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The following table shows the percentage (%) distribution of six different types of items A-F
produced by a company in the years 2020 and 2021. Total number of items produced by the
company in the year 2020 and 2021 are 48600 and 62500, respectively. Based on the data in
table, answer the questions that follow.

Item-wise Distribution of Production

Distribution (%) of ltems Produced
ltem Type

2020 2021
A 17% 18%
B 18% 15%
C 17% 8%
D 20% 17%
E 16% 18%
F 12% 24%

FrafufEs aiftrer § 9d 2020 37 2021 # 5 ot g SR ©: Am-RE aEi A F TR
% ufererd fawor &1 gxrtar mar 81 9 2020 37 2021 # IF ST gRT I Hel BT P @
48600 301¥ 62500 &1 ATFRTHT & f3T 7T sfiws! F MU TN Frafig uig uel & 3w diferg :

I P AR fgawo

Jdifcd Hal & faaem
L @|
(%)
SFIR
2020 2021
A 17% 18%
B 18% 15%
C 17% 8%
D 20% 17%
E 16% 18%
F 12% 24%

What is the total number of items of type C produced in the year 2020 and 2021 together?

1.12482
2.13262
3. 14786
4.15200

(1) 1
) 2
3) 3
(4) 4




Ty 2020 SR 2021 ¥ Ud Y HA@R Id1MGd UPR (C13Y) C & Hal B oo Y& [l g ?

1.12482
2.13262
3. 14786
4. 15200

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33701] Question Description : dwbv_pg_gp8_eng_2_q1
2[Option ID=33702]

3[Option ID=33703]
4[Option ID=33704]

Sl. No.2
QBID:8201002

The following table shows the percentage (%) distribution of six different types of items A-F
produced by a company in the years 2020 and 2021. Total number of items produced by the
company in the year 2020 and 2021 are 48600 and 62500, respectively. Based on the data in

table, answer the questions that follow.

Item-wise Distribution of Production

Distribution (%) of ltems Produced
ltem Type

2020 2021
A 17% 18%
B 18% 15%
C 17% 8%
D 20% 17%
E 16% 18%
F 12% 24%

FrafufEs aiftrer § 9d 2020 37 2021 # 5 ot g SR ©: Am-RE aEi A F TR
% ufererd fawor &1 gxrtar mar 81 9 2020 37 2021 # IF ST gRT I Hel BT P @
48600 301¥ 62500 &1 ATFRTHT & f3T 7T sfiws! F MU TN Frafig uig uel & 3w diferg :

I P AR fgawo

Jdifcd Hal & faaem
L @|
(%)
SFIR
2020 2021
A 17% 18%
B 18% 15%
C 17% 8%
D 20% 17%
E 16% 18%
F 12% 24%




The number of items of type B produced in 2020 is approximately __ % of the number of items
of type B produced in 2021.

1.84
2.87
3.90
4.93

1)
(2)
(3)
(4)

¥ 2020 3R 2021 ¥ IANGd UPR B & UGl &I &A1 d4 2021 H IAGd UBR 8 & Hal &1 T B
T %3

A W N =

1.84
2.87
3.90
4,93

1)
(2)
(3)
(4)

A W N R

1[Option ID=33705] Question Description : dwbv_pg_gp8_eng_2_q2
2[Option ID=33706]
3[Option ID=33707]
4[Option ID=33708]

Sl. No.3
QBID:8201003




The following table shows the percentage (%) distribution of six different types of items A-F
produced by a company in the years 2020 and 2021. Total number of items produced by the
company in the year 2020 and 2021 are 48600 and 62500, respectively. Based on the data in

table, answer the questions that follow.

Item-wise Distribution of Production

Distribution (%) of ltems Produced
ltem Type

2020 2021
A 17% 18%
B 18% 15%
C 17% 8%
D 20% 17%
E 16% 18%
F 12% 24%

FrafufEa aiferer & 9d 2020 3% 2021 # foFedt Fut gRT Iafed ©: Fauw-fig w481 A-F TR
% ufera faawor &t gwifar man 21 3 2020 37 2021 F IF HUA gRT I A B A wE@A
48600 31Y 62500 &1 AT & f3T 7T sfiwrs! F MR TN Frla ufa el & I Siferg :

I BT AGaR fgawo

Jdfad Hal &1 g
L @
(%)
Ul
2020 2021
A 17% 18%
B 18% 15%
C 17% 8%
D 20% 17%
E 16% 18%
F 12% 24%

What is the ratio of the number of items of type D produced in 2020 to the number of items of
type F produced in 20217

1.13:17
2.83:116
3.81:125
4,103 : 147

(1) 1
) 2
3) 3
(4) 4




gy 2020 H IAIMGd UBR (€13Y) D & Hal & =T 3R a8 2021 F (€134) F & AG] &I =T
@I U F§ ?

1.13:17
2.83:116
3.81:125
4.103:147

(1) 1

() 2

3) 3

(4) 4

1[Option ID=33709] Question Description : dwbv_pg_gp8_eng_2_q3
2[Option ID=33710]
3[Option ID=33711]
4[Option ID=33712]

Sl. No.4
QBID:8201004

The following table shows the percentage (%) distribution of six different types of items A-F
produced by a company in the years 2020 and 2021. Total number of items produced by the
company in the year 2020 and 2021 are 48600 and 62500, respectively. Based on the data in

table, answer the questions that follow.

Item-wise Distribution of Production

Distribution (%) of ltems Produced
ltem Type

2020 2021
A 17% 18%
B 18% 15%
C 17% 8%
D 20% 17%
E 16% 18%
F 12% 24%

Frafafaa aiferer & ad 2020 3R 2021 # fFeft FUt g1 I ©: F-fius 761 A-F & U
& uferrd faawo &1 ertar mar 81 a6 2020 37 2021 # IF ST gRT I 7l B Fa @
48600 Y 62500 T ATfeTT H fIW T sriwel F SMUR W THETUF UT WSl & I ST :

JdIGH &1 HgdR fdavu

Jadifcd Hal @& faaeu
g @
(%)
PR
2020 2021
A 17% 18%
B 1896 15%
C 17% 8%
D 20% 17%
E 169 18%
F 12% 24%




What is the total number of items of type A, B and C produced by the company in 2020 and 2021
together?

1. 50897
2.51164
3.52324
4. 48542

1) 1
) 2
3) 3
(4) 4

TE 2020 3R 2021 T TP UY @R SO GRI IdNGd TBR A, B AR ¢ & Hal B Ha &= foa
&7

1. 50897
2.51164
3.52324
4. 48542

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33713] Question Description : dwbv_pg_gp8_eng_2_q4
2[Option ID=33714]

3[Option ID=33715]
4[Option ID=33716]

Sl. No.5
QBID:8201005




The following table shows the percentage (%) distribution of six different types of items A-F
produced by a company in the years 2020 and 2021. Total number of items produced by the
company in the year 2020 and 2021 are 48600 and 62500, respectively. Based on the data in

table, answer the questions that follow.

Item-wise Distribution of Production

Distribution (%) of ltems Produced
ltem Type

2020 2021
A 17% 18%
B 18% 15%
C 17% 8%
D 20% 17%
E 16% 18%
F 12% 24%

FrafufEa aiferer & 9d 2020 3% 2021 # foFedt Fut gRT Iafed ©: Fauw-fig w481 A-F TR
% ufera faawor &t gwifar man 21 3 2020 37 2021 F IF HUA gRT I A B A wE@A
48600 31Y 62500 &1 AT & f3T 7T sfiwrs! F MR TN Frla ufa el & I Siferg :

I BT AGaR fgawo

Jdfad Hal &1 g
L @
(%)
Ul
2020 2021
A 17% 18%
B 18% 15%
C 17% 8%
D 20% 17%
E 16% 18%
F 12% 24%

The number of items of type E produced in the year 2021 is __ % more than the number of items

of type C produced in 2021.

1.105
2.75
3.60
4. 125

(1) 1
) 2
3) 3
(4) 4




¥ 2021 ¥ IANMGd USR E & Hel &1 =1 4 2021 H IAGd YR € & Hgl & T I
ufaed e § 2

1.105
2.75
3. 60
4.125

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33717] Question Description : dwbv_pg_gp8_eng_2_q5
2[Option ID=33718]

3[Option ID=33719]
4[Option ID=33720]

Sl. No.6
QBID:8201006

"Education is the most powerful weapon which you can use to change the world.” This statement
was given by

1. Nelson Mandela

2. Mahatma Gandhi

3. Martin Luther King (Jr)

4. Maulana Abdul Kalam Azad

1 1
(2) 2
3) 3
(4) 4

T2re1 Tl S2ad 2 § forad A1 U oY giHa1 96d 9ad ¢ 1° 98 [yl &Y 87
1. e Haar
2. HETHT T

3. H1fe R T (1)
4, AT g Ham

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33721] Question Description : dwbv_pg_gp8_eng_2_q6
2[Option ID=33722]

3[Option ID=33723]
4[Option ID=33724]

Sl. No.7
QBID:8201007




Imagine that you have been asked to create a short animated video related to your subject-
matter. Which of the following softwares would you choose?

A. Plotagon

B. Book-creator

C. Animaker

D. Kahoot

E. Mindmeister

Choose the correct answer from the options given below:

1. A and C only
2.Band D only
3.Cand E only
4. A and D only

1)
(2)
(3)
(4)

A W N R

Bl Dol d HUD! U [a97 GHl R U oY JaraiEd difsdl &9 & iU $e1 @1 8 | 386
U 319 &7 g TiteaX @1 90 @l

A, T

B. §@ U

C. TFHER

D. BEC

E. AlS SR

i< feu e fawedl 5 9 98l 3w 9 -
1.9 A R C
2.5qaB 3R D

3. HAACARE
4. Had A AR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=33725] Question Description : dwbv_pg_gp8_eng_2_q7
2[Option ID=33726]
3[Option ID=33727]
4[Option ID=33728]

Sl. No.8
QBID:8201008




In 'PIC-RAT" Model of technolegy integration for teacher preparation for class teaching, ‘PIC’
stands for:

1. Pedagogical, Informational, Content
2. Passive, Informal, Content

3. Passive, Interactive, Creative

4, Practical, Informal, Collaboration

1)
(2)
(3)
(4)

A W N =

W A& & AT ORI od U TS & THI® o Ul 315 O - 3R U el Alsa | df 315 I &1
R A &:

1. Ry, goTHS, fquuas
2[Ry, sHigaiie, favgayg

3. FfERT, srfpaEs, gords
4, Ui, SFETEe, 9eaifie

1)
(2)
(3)
(4)

A W N R

1[Option ID=33729] Question Description : dwbv_pg_gp8_eng_2_q8
2[Option ID=33730]
3[Option ID=33731]
4[Option ID=33732]

Sl. No.9
QBID:8201009

is the technique of changing the level of suppert over the course of a teaching session;
more skilled person adjusts the amount of guidance to fit the students current performance.

1. Scaffolding

2. Cognitive apprenticeship
3. Tutoring

4. Concept formation

1)
(2)
(3)
(4)

A W N =

% AT HIC Afed gRI T FRIE0 T & GRF Uedsmpd amdH & wR d el & adom &1
HEIEA & Sdd AFIGRIA B SHIMGH ®d URdd d3- I dd-id H

1. UTS ST FHHifca)
2. TS UiRIedr
3. ST (3FfRIm)
4, Yeg 1 faure

1)
(2)
(3)
(4)

A W N R




1[Option ID=33733]
2[Option ID=33734]
3[Option ID=33735]
4[Option ID=33736]

Question Description : dwbv_pg_gp8_eng_2_q9

Sl. No.10
QBID:8201010

Match List | with List 11

List | List 11

Channel number of SWAYAMPRABHA Name

A. Channel 03 |. PRABANDHAN
B. Channel 04 Il. VIDHIK

C. Channel 05 lll. PRABODH

D. Channel 06 IV. SAARASWAT

Choose the correct answer from the options given below:

LA-LB-V,C-NILD -1l
2ZA-WB-ILC-WV,D-I|
JA-IV.B-ILC-], D~
4 A-1I,B-IV,C-1,D-1

11

() 2

(3) 3

4) 4

Tl -1 &1 Gl -1l ¥ GHfed ST :

Tl -| gl -1
U B e T=T A

A. A 03 | TEe
B. TId 04 IREIEES
C. T4 05 111, FEry
D. 1d 06 V. IR
i feu e fadpeal # O Ugl 3R gHU :

TA-LB-IV,C-NIL,D-1
2ZA-1LB-N,C-1V,D-I
3A-IV,B-IL,C-1,D-1I
4.4-1LB-NV,C-1,D-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=33737]
2[Option ID=33738]

3[Option ID=33739]
4[Option ID=33740]

Question Description : dwbv_pg_gp8_eng_2_q10

Sl. No.11
QBID:8201011




A process in which scientific research and ideas are evaluated by experts of the field, is called

1. Literature Review
2. Conceptual Review
3. Peer Review

4. General Review

(1) 1
(2) 2
3) 3
(4) 4

I Wisal form a9e 2y ok vl &1 fawa & ozt gR1 geaie favar oiman 8, 99 &gl 9l §

1. Flig SHiET

2. U ea-TeTd gHial
3. GHSET (UTTR) gHET
4. GG THIET

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33741] Question Description : dwbv_pg_gp8_eng_2_q1l1
2[Option ID=33742]

3[Option ID=33743]
4[Option ID=33744]

Sl. No.12
QBID:8201012

Researchers, while writing manuscripts, often use the abbreviation 'et.al.”. It means

1. extra alternate
2. and others

3. at the end

4. and alternatively

(1) 1
(2) 2
(3) 3
(4) 4

Tydd], Uigfaid / gxafely ferad T9g Urg: HaUI&R 'et.al’ &I IR &Xd & | 39@1 3 & :

1. iR f[dded

2. 3R 39

3. 3dd

4. 3R d@fam ®4 g

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33745] Question Description : dwbv_pg_gp8_eng_2_q12
2[Option ID=33746]

3[Option ID=33747]
4[Option ID=33748]

Sl. No.13
QBID:8201013




Identify the correct order of following steps in a research process:
A. Review of Literature

B. Formulation of Hypothesis

C. Defining the Research Problem

D. Collection of data

E. Preparing the researtch design

Choose the correct answer from the options given below:

1.A B, CDE
2.BCAED
3.CABED
4.B,CADE

(1)
(2)
(3)
(4)

A W N R

MY Wil & FRfiRad ool & 98 4 & UgdH sl
A, Hiig e
B. TR euT Hfcure
C. e THE Bl GRHIT BT
D. 33T I8
E. TNy HfiHed (FEA) TR &A1
i<l feu e fadeal & 9 W6l SR 9 -
1.AB,CDE
2.B,CAED

3.CABED
4.B,C,ADE

1)
(2)
(3)
(4)

A W N R

1[Option ID=33749] Question Description : dwbv_pg_gp8_eng_2_q13
2[Option ID=33750]
3[Option ID=33751]
4[Option ID=33752]

Sl. No.14
QBID:8201014




Suppose a researcher created a list of the names of everybody in a population of interest and
selected every 10th name in order to get a list of participants comprising the sample. This type of
sampling is called:

1. Quota Sampling

2. Systematic Sampling

3. Simple Random Sampling
4. Convenience Sampling

(1)1
(2) 2
3) 3
(4) 4

U UDdl - &8 T & Udd oiad b ATAl di U Yal ddR i 3R Ul 10 d AMH B 99+
T Ufagel o wfia ufaviiEl @1t Ol @91 | Uiaaa- & 39 USR & del J1dl o :

1. ®iel Ufaagq

2. gty wiaaad

3. M Ui Hiaddd
4. giqurs-ie Hicaa-

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33753] Question Description : dwbv_pg_gp8_eng_2_q14
2[Option ID=33754]

3[Option ID=33755]
4[Option ID=33756]

Sl. No.15
QBID:8201015

Given below are two statements:

Statement I: ANOVA is essentially a procedure for testing the difference among different groups
of data for homogeniety.

Statement II: Using ANOVA one can draw the inference about whether the samples have been
drawn from populations having the same mean.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
(3) 3
(4) 4




T - | : ANOVA Tedd: SullfcradT & fore fafim sfidsT 99a! & aid fisay 3k & Wiem ed i@
ufFa |

DY - 1 : ANOVA @ JORT H3cb gH THMH J1e B S-aeae U uiaes & Fdied & 9R H 3 HH
PR Uhd gl

Iudad dyHEl & aie | Fefaiad Geddl F 9 98 39 g -
1. @Y | 3R 11 GH 981 8l
2. YT AR I GHI Tad g

3. %Y | Tl g, g Py 11 TTad § |
4. @ T T, g I I TR B

1)
(2)
(3)
(4)

A W N R

1[Option ID=33757] Question Description : dwbv_pg_gp8_eng_2_q15
2[Option ID=33758]
3[Option ID=33759]
4[Option ID=33760]

Sl. No.16
QBID:8201016

Language as a tool of communication provides a grid of

1. Bliss

2. Hidden Secrets
3. Reality

4. Info-paradise

1)
(2)
(3)
(4)

THINU & Ueh H1e9H & &4 § 1Y (Hgifdd {69 5 Us 1S (@ae) Ued ddi e ?

1. ¥Hg
2. USH /W
2. gurRfdr

4. A - |

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=33761] Question Description : dwbv_pg_gp8_eng_2_q16
2[Option ID=33762]
3[Option ID=33763]
4[Option ID=33764]

Sl. No.17
QBID:8201017




Historically, comminication media, have more aften served as the voice of

1. The subaltern

2. The people

3. The neglected gender
4. The powerful

1)
(2)
(3)
(4)

A W N R

eI ¥ ¥, ToR Hifsar 4 it ¥ 9 Um: fGus! 3Mas 961 95 YA UgH $1 8 ?

1. It (Rgaitta) &1
2. T @i

3. JUMEM WS @I

4. TIfGRIe Al &

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33765] Question Description : dwbv_pg_gp8_eng_2_q17
2[Option ID=33766]
3[Option ID=33767]
4[Option ID=33768]

Sl. No.18
QBID:8201018

The big data includes:

A. Writing style

B. Blank space

C. Sound

D. Images

E. Words

Choose the correct answer from the options given below:

1. A B and Conly
2.B,Cand D only
3.C, D and E only
4. A, CandE only

1)
(2)
(3)
(4)

A W N R




fqura fi@ar (&1 sen d oA gld & -
A. T et
B. e ==
C. |
D. Bl
E. Hleq
=< feu 7Tu fadedl 5 9 981 SR 9 -
1. AT A, B 3R C
2,640 B, C 3R D

3.HaAC, DIHRE
4. HAAA, CAHRE

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33769] Question Description : dwbv_pg_gp8_eng_2_q18
2[Option ID=33770]
3[Option ID=33771]
4[Option ID=33772]

Sl. No.19
QBID:8201019

Given below are two statements:

Statement |: Photographs, graphs, films and other art works do not clarify and enhance the visual
value of the written messages much.

Statement II: Bar graphs, pie charts and other infographic devices cannot replace the mass of
numbers in print.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

A W N =




EIEEAG R E AT
DU - | : TG, HTerE (@Th), {hed SR 31 dal-diaal fafad Y2l & exg ga H siite wd
T4 YaeH T8 ol |
DY - 1l : IR AT, T3 91€ 3R 3G S5 1hdy USRI 501 § YA & §g - Al &I
aeid Tel s Ibd & |
Iudad dyHEl & aie | Fefaiad Geddl F 9 98 39 g -

1. @Y | 3R 11 GH 981 8l

2. Y| AR 11 GHT AT &

3. Y | el g, g PYA 1 TTad & |
4. DY 1 710d &, &g B4 1| G213

1)
(2)
(3)
(4)

A W N =

1[Option ID=33773] Question Description : dwbv_pg_gp8_eng_2_q19
2[Option ID=33774]
3[Option ID=33775]
4[Option ID=33776]

Sl. No.20
QBID:8201020

Given below are two statements:

Statement |: The semiotic approach in communication emphasises the manipulative power of the
text.

Statement II: It is the ideological approach that questions the basic value systems in different
societies in order to help seek a new humanism.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

A W N R

EIERARRE AT
FHYT - | : GO H Ficofow HHI0 U6 B 51D &l (Afdd) W T odl o

DY - 1| : T8 U a1 SPhI01 ¢ Sl faftid GaTEl § HURYd Jed Wonferdi 1) Ueb -d- HHddIg ol
Wig o eradl & &4 3 Uy T3l aidl 6|

SWad HUA[ & H1die | FHfRad faddl § 4 9el Iu g -
1. @Y | AR 11 GF 98l 2l
2. Y| AR 11 GHT AT &

3. U | el g, fioeg %A 11 TTad & |
4. DY 17104 &, &g B4 1| G213




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33777] Question Description : dwbv_pg_gp8_eng_2_q20
2[Option ID=33778]

3[Option ID=33779]
4[Option ID=33780]

Sl. No.21
QBID:8201021

Two lots of oranges with equal quantity, one costing 20 per dozen and the other costing 330 per
dozen, are mixed together and the whole lot is sold at 324 per dozen. Find the profit or loss in
percentage?

1.5.2 % profit
2.4 % loss

3. 4 % profit
4.5.2 % loss

1) 1
(2) 2
(3) 3
4) 4

20 ¥UU U GoiF B ®IFd AR 30 ¥94 Ufd Goid 1 ®Hd a1d Saxi & &l @dl &1 I A6 3
H1Y H Tiye &g S & R e Ui WY &1 24 304 Ui goiH &1 (R W I Al g1 Ty 3yl
11 &1 Ufa=Id 91d e

1.5.2 % TH
2.4 %8I
3.4 %Y
4.52 % T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33781] Question Description : dwbv_pg_gp8_eng_2_q21
2[Option ID=33782]

3[Option ID=33783]
4[Option ID=33784]

Sl. No.22
QBID:8201022

If 5th term of an Arithmetic progression (AP) series is 16 and 9th term is 22, then find the seventh
(7th) term of the series.

1.25
2.22
3.19
4. 205

1) 1
() 2
(3) 3
(4) 4




it Tl THiaR sivft (udh) Sgar § 591 g 16 3R 9 4l Ug 22 &, dl 39 ¥4dl & 7d UG &I Jid
Gl

1.25
2.22
3.19
4. 20.5

1)
(2)
(3)
(4)

A W N =

1[Option ID=33785] Question Description : dwbv_pg_gp8_eng_2_q22
2[Option ID=33786]
3[Option ID=33787]
4[Option ID=33788]

Sl. No.23

QBID:8201023
The average of a group of 20 numbers is 30 and that of another group of 30 numbers is 50. What
is the average of all the numbers in both the groups?

1.43.5
2.45
3.40
4.42

1)
(2)
(3)
(4)

A W N R

20 HWATH & Udr YT &I Hd 30 § AR fdreil GOR g DI 30 Y= &1 H19d 50 1 GHI 9ol J
T Tl &1 3fgd fadAr g 2

1.43.5
2.45
3.40
4.42

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33789] Question Description : dwbv_pg_gp8_eng_2_q23
2[Option ID=33790]
3[Option ID=33791]
4[Option ID=33792]

Sl. No.24
QBID:8201024




The price of an article A increases by 340 every year while the price of article B increases by 315
every year. If in 2015, the price of the article A was 3420 and that of article B was 630, then in
which year the article A will cost ¥40 more than article B?

1. 2022
2.2023
3. 2025
4.2024

OR!
(2) 2
3) 3
(4) 4

Ueh a%g A" @I diHd H Hiday 40 ¥4 @1 1S Bl & Wai 9% ‘B’ @ diHd § Ul a¥ 15 $ud $i
gl Bidl 819G 9y 2015 H 9% ‘A" & d1Hd 420 $Ud 41, 3R 9% B’ & HIHd 630 $Ud Ui dd fbd
Iy H 9% ‘A’ &1 Hed a%g B’ DI gal H 40 $0Y SHiU® g

1. 2022
2. 2023
3. 2025
4. 2024

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33793] Question Description : dwbv_pg_gp8_eng_2_q24
2[Option ID=33794]

3[Option ID=33795]
4[Option ID=33796]

Sl. No.25
QBID:8201025

In a certain coded language,

A) 'tao la eto’ means 'truth is eternal’

B) ‘'mitac la nota eto’ means 'enmity is not eternal’

C) 'tao duo nota pisho’ means ‘truth does not perish’
Which of the following means ‘enmity’ in that language?

1. eto
2. pisho
3. tao
4. mitao

1) 1
(2) 2
3) 3
(4) 4




ol (FAid gevw &,

(A) Tt @ gar @1 el gE Eed B

(8) FrdTal @ Arer 3ar &1 o A M el B 1
(€) el g Al o= &1 o g AR AR e
39 4T H § Fafaied oF 2gar @1 o [@ar g

1.5t
2. f=m
EAGIE
4. fanad

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33797] Question Description : dwbv_pg_gp8_eng_2_q25
2[Option ID=33798]

3[Option ID=33799]
4[Option ID=33800]

Sl. No.26
QBID:8201026

"Number 3 is a prime number, so are numbers 5 and 7. Therefore, it is clear that all odd numbers
are prime numbers.” Which fallacy is committed in the above argument?

1. Missing the point

2. Irrelevant conclusion
3. Hasty Generalisation
4. Slippery Slope

(1) 1
(2) 2
3) 3
(4) 4

T 3 TP UTT T &, 34 TSR 681 5 3R 7 Hff 3ruTeg T 8| 3fd: U8 @p § & it faum
AT YT &A1 5 |
SE dh H PH-Fadh v & ?

1. {85 @ yew o1 (sruf=R adbam)

2. Ui (4fE g ey

3. Jfa=aIia gEFdE
4. ThycH gad gaH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33801] Question Description : dwbv_pg_gp8_eng_2_q26
2[Option ID=33802]

3[Option ID=33803]
4[Option ID=33804]

Sl. No.27
QBID:8201027




If the statement all cricketers are rich persons’ is given as false which of the following
statement(s) remain(s) undetermined?

A. Some cricketers are not rich persons.

B. No cricketers are rich persons.

C. Some cricketers are rich persons.

Choose the correct answer from the options given below:

1. A only

2.Aand Conly
3. A and B only
4.B and C only

1) 1
(2) 2
(3) 3
4) 4

i Sy Il fhdex -t afea § oraw fear mar § o Fufates & 9 oF-91/8 oy g wgay
WwWAe/B?

A S hex ol oafad a1 81

B. @I fipchex el oafda el €

C. P fobhex ol Hfdd g

i< feu aTu fawedl 5 9 98l 3w g -
1. B9 A
2. Bad A AR C

3. Had A AR B
4. HAAB IR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33805] Question Description : dwbv_pg_gp8_eng_2_q27
2[Option ID=33806]

3[Option ID=33807]
4[Option ID=33808]

Sl. No.28
QBID:8201028




Which of the following propostions are so related that they cannot both be false, although they
may both be true?

A. All cricketers are cheerful persons.

B. No cricketers are cheerful persons.

C. Some cricketers are not cheerful persons.

D. Some cricketers are cheerful persons.

Choose the correct answer from the options given below:

1. A and B only
2.Band D only
3. A and Conly
4.Cand D only

(1)
(2)
(3)
(4)

A W N R

fgfafad & $1-9 ufagfat 58 UeR T gegsfia & for 3 g 7Tad 121 8 9ad &, =it d g
—\q—Eﬂ‘-ﬂﬁW%

A Tl Tbeher Ueid odfad & |
B. D3 fohcheX UHATdd odfad ol ¢l
C. PS fordhex ygAld afed gl gl
D. T [t UgAfd fad 2|
i< feu 7Tu fadedl 5 9 98l SR 9 -
1. ®ad A 3R B
2. %aa B ¥R D

3. HIAA AR C
4.FHaACAND

1)
(2)
(3)
(4)

A W N R

1[Option ID=33809] Question Description : dwbv_pg_gp8_eng_2_q28
2[Option ID=33810]
3[Option ID=33811]
4[Option ID=33812]

Sl. No.29
QBID:8201029




Which of the following statements are logically equivalent?
A. Some cats are aggressive animals.

B. Some aggressive animals are cats.

C. Some cats are not non-aggressive animals.

D. All cats are aggressive animals.

Choose the correct answer from the options given below:

1.Cand D only
2. A, B and D only
3.B and D only
4. A B and Conly

1) 1
(2) 2
(3) 3
(4) 4

Fufeiad o 9 ®F-4 &y diid® U 4 Y0 6 ?
A TS fafcaal HHHS I 8
B. @ P TR [aicedl gl

C. P fafce™i TR-AHHS THR ol o

p. i fafceat smpm® T B
o fEU U fadheal 9 98 S g -
1.®ad C AR D
2. ®ad A, B AR D

3. WA B 3R D
4. HAAA, B AR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33813] Question Description : dwbv_pg_gp8_eng_2_q29
2[Option ID=33814]

3[Option ID=33815]
4[Option ID=33816]

Sl. No.30
QBID:8201030




Given below are two statements:

Statement |: Classical Indian Logicians (Naiyayikas) give a psychological account of Inferential
cognition.

Statement |I: According to Naiyayikas the logical structure of inference represents not how we
ought to infer, but how, as a matter fact, we do infer.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
(3) 3
(4) 4

did Py ey MU E -
DY - | : URAIG HRAW debddl IS HIHIHS U BT Hd91-d fGaw0 eaH $d g

Y - 11 : FRAD & SFFHR AR B AHE T 78 Hafed Tl Bl € & 58 s
T 16T dictp o Y aie aega: HIHH Td &

SudE Pl 3 S & FraRia el & 3 9d SR T
1. % 1 3R 1| GH 91 B
2. @Y1 SR 1 SF A B
3.9 1 qel 8, g @Y 1 Tad B |
4. T TTAd E , g YA 1 T8 B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33817] Question Description : dwbv_pg_gp8_eng_2_q30
2[Option ID=33818]

3[Option ID=33819]
4[Option ID=33820]

Sl. No.31
QBID:8201031

Full support for Internet Explorer (IE) version 11 was discontinued on ___, with the alternative
being Microsoft Edge's IE compatibility mode for legacy sites that require it.

1.15 - June - 2022
2.15 - June - 2021
3. 25 - June - 2022
4. 25 - June - 2021

(1) 1
(2) 2
(3) 3
(4) 4




T TR (3115 3 ) TR 11 P U S 691 741 U1 3R 39! 3aadhdl ale
T =l & o fGded & 0 0 9R@ bue U &1 313 & duiciaiae) 91 faar T

1. 15 97 2022
2. 159 2021
3.25 91 2022
4. 259 2021

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33821] Question Description : dwbv_pg_gp8_eng_2_q31
2[Option ID=33822]

3[Option ID=33823]
4[Option ID=33824]

Sl. No.32
QBID:8201032

According to the IT Act, 2000, penalty for breach of confidentiality and privacy is imprisonment

for a term which may extend to year(s) or with a fine which may extend to lakh(s)

rupees or both.

1.two ; one
2. one :two
3. two ; two
4. one ; four

(1)1
(2) 2
(3) 3
(4) 4

HTg, <1 ATEFEH, 2000 & HTER MGl HR Hod 634 & AU &S gy @ 2@y a&
BRI 3dl TG YL G BT AT HYdT T 2

1.@;@
2.0d;a
3.3 6

4.0 ; AR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33825] Question Description : dwbv_pg_gp8_eng_2_q32
2[Option ID=33826]

3[Option ID=33827]
4[Option ID=33828]

Sl. No.33
QBID:8201033




Given below are two statements:

Statement I: A modem converts analog signals to digital signals and vice versa.

Statement II: In the context of computer security, crackers are also known as black hat hackers.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4

EIECAE AR
TYA - | : T A18H EY (T el @f ok fHal § 3R 590 Seel ©uidid ddl gl
DY - 11 : DR YR D HgH H, ol I <1t o¢ g & ©U H H FHI Sl g
IWE DUl & e F Fafaied feeedl § 9 98l s g -
1. ®YF | 3R 11 EF 98T 8
2. BYA 1 3R 11 G Ted & |

3. U | el g, fioeg %A 11 TTad & |
4. @Y1 71Ad 6, fog B 1| TRl 8

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33829] Question Description : dwbv_pg_gp8_eng_2_q33
2[Option ID=33830]

3[Option ID=33831]
4[Option ID=33832]

Sl. No.34
QBID:8201034

With reference to SWAYAM, which of the statements A - C given below are correct?

A. The current SWAYAM platform is developed by Ministry of Education and NPTEL, IIT Madras,
with the help Google Inc. and Persistent Systems Ltd.

B. It facilitates hosting of all the courses, taught in the classrooms from class Sth till Post
Graduation.

C. Courses and Certificates provided through SWAYAM are available free of cost to the learners.
Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.B and C only
4.4 BandC

1) 1
) 2




3) 3
) 4
UH S& U Al U UH (30) & HeH | FEfiiad duEl A-C H 9 S5 H 98 87

A. o W wiewr o e g, IR @ A S U, g TR A T 56 AR
R Y e fd. & Tgmar d [aeid fear g

B. Ug 9dl Bl § Wiz W dafsll H Uglt @i dd Gl uiedshAl & gaHl G4 a-1al g |
C. 4 & 919 ¥ UGd UIsuHH AR vHE Ranfiat &1 e Suas gl
i< feu U faswedl § 4 9t Iw g -

1. ®hdd A 3R B

2.had A ¥R C

3. HaaB AR C
4.A BIHRC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33833] Question Description : dwbv_pg_gp8_eng_2_q34
2[Option ID=33834]

3[Option ID=33835]
4[Option ID=33836]

Sl. No.35
QBID:8201035

Which one of the follwing is the context in which the term “qubit” is mentioned?

1. Cloud Services

2. Quantum Computing

3. Visible Light Communication Technologies
4. Wireless Communication Technologies

1) 1
(2) 2
3) 3
(4) 4

"Ff§e U¢ @1 I Fafafed § ¥y ded & frmr wmar g -

1. WSS YT

2. BIcH T

3. fafiad dige HRIAGRH STy
4. IR HRFHIH oy

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33837] Question Description : dwbv_pg_gp8_eng_2_q35
2[Option ID=33838]

3[Option ID=33839]
4[Option ID=33840]

Sl. No.36
QBID:8201036




Which one of the following is not a Sustainable Development Goal (SDG)?

1. Decent work and economic growth

2. Industry, Innovation and Infrastructure
3. Climate change

4. Education to everyone

1) 1
(2) 2
3) 3
(4) 4

affEd § € @19 91 Ue 9dd fiere deg e S o) 78 8 2
1. Ry o iR anfife 9fE

2. FFT = Uda- 3R HTETEAT
3. Saarg URadA
4.8i® @ faen

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33841] Question Description : dwbv_pg_gp8_eng_2_q36
2[Option ID=33842]

3[Option ID=33843]
4[Option ID=33844]

Sl. No.37
QBID:8201037

Lead pollution, impacts which of the following part of human body most?

1. Heart
2. Brain
3. Eye
4. Skin

1) 1
(2) 2
3) 3
4) 4

1 UGy HFd TR & 8 H 9 fod 3 @l gaifid gHifad i@ 2

1. 8cd
2. A
3. 98
4. @4l

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33845] Question Description : dwbv_pg_gp8_eng_2_q37
2[Option ID=33846]

3[Option ID=33847]
4[Option ID=33848]

Sl. No.38
QBID:8201038




Match List | with List 11

List | List I
Water Pollutant Type Example

A. Pathogen . Salt

B. Inorganic chemical II. lodine

C. Organic chemical . Fungi

D. Radioactive material IV. Pesticide

Choose the correct answer from the options given below:

i A B =-E S iD-T
2.A-1I,B-1,C-1V,D -1l
AN Bl CelL D=l
4. A-NB=1LC-ill,D-Il

~~
()
Nt
A W N R

-l -1l
Sl UGN® UBHR R
A, IO |, aoT

B. HPE D THTA 1. HTATSH
C. BEHD JWE Il BhE
D. IrSareef arEh V. BT
o fGu U fadeat o © U8l SR gHU

T.A-NILB-1,C-1,D-1IV
2A-1LB-1,C-IV,D-1
A-VEB-U,C-L,D-
4A-IV,B-LC-ULD-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=33849] Question Description : dwbv_pg_gp8_eng_2_q38
2[Option ID=33850]
3[Option ID=33851]
4[Option ID=33852]

Sl. No.39
QBID:8201039

Waste uranium from the nuclear reactors is called as

1. Euriched uranium
2. Depleted uranium
3. Fertile uranium
4. Fissile uranium

1) 1
) 2
3) 3




(4) 4

ity Rugel ¥ Sufly giFas @l 9 5 Y ® sel g ?

1. aftfd T
2. gt T

3. IR WTH
4. fogvs-ig aw

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33853] Question Description : dwbv_pg_gp8_eng_2_q39
2[Option ID=33854]

3[Option ID=33855]
4[Option ID=33856]

Sl. No.40
QBID:8201040

Given below are two statements:

Statement |: Sulphate aerosols are primary pollutants in the urban environment.
Statement |I: Sulphate aerosals have cooling effect on climate.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
() 2
(3) 3
(4) 4

EIERAR TR A 1=

T - | : e TaTaR H Yethe TRAE WHfid UgE® oid o

DU - || : Gethe URIGIE Pl Sadr] W ida- WHId gidi g
U BYAl & e J FafaRed G H 9 98 Iwm g
1. Y1 3R 11 SHI TR E
2. %Y1 SR I GHI A B

3. U 1 el g, feg @Y 1 Tad § |
4. YA | TTe7d &, T BYA 11 HE B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33857] Question Description : dwbv_pg_gp8_eng_2_q40
2[Option ID=33858]

3[Option ID=33859]
4[Option ID=33860]

Sl. No.41
QBID:8201041




Given below are two statements:

Statement |: NPTEL is the smallest online repository in the world of courses in Engineering, Basic
Sciences and Selected humanities and Management subjects.

Statement Il: NPTEL is a joint venture of the IITs and 11Sc, funded by the Ministry of Education
(MoE) Government of India and it was launched in 2003.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

@Y - | U U1 &1 § U Selli-aReT v fagEr SR gHel aFfdel ok yde- dafid faval &
U39 &1 a4 d Gad Blel i Hae- 998 (MEUrR) 2|

FYF - 11: TG 41 3 U0 YRd WOR o 12087 HA100 gR1 a4 Uiftd 8§14 a1, 38, 3118, 4.3
HTS.TS TU. T, B U Ugad 399 § 3R 39! a8 2003 H HRB faa 77 o7 |

Sudad @Yl & aie § FufaRad el 3 wel S| A -
1. Y | 3R 11 ST FET B
2. YT AR I GFI Tad g
3.HYT 1 el g, feg Py 1 TTad B |
4. U T ¢, g B I T B

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=33861] Question Description : dwbv_pg_gp8_eng_2_q41
2[Option ID=33862]
3[Option ID=33863]
4[Option ID=33864]

Sl. No.42
QBID:8201042

In the Upanishadic age, Mithali became a prominent seat of the Brahmanical system of education.
It was named

1. Vidisha
2. Videha
3. Nyaya Sutra
4. Vadahi

1)
(2)
(3)
(4)

A W N R




Sue-oa o, firurel sravare! fRian o &1 U@ e SHRSH (RIH) o, $UE1 I8 A 391 T
o]

1. fafemm
2.fage
3. AT
4.9arel

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33865] Question Description : dwbv_pg_gp8_eng_2_q42
2[Option ID=33866]

3[Option ID=33867]
4[Option ID=33868]

Sl. No.43
QBID:8201043

Which of the following will be model Public Universities for holistic and multidisciplinary
education, at par with IITs, [IMs with the aim to attain the highest global standards in quality
education?

1. MERUs (Multidisciplinary Education and Research Universities)
2. MVEUs (Multidisciplinary Vocational Education Universities)

3. MPEUs (Multidisciplinary Pedagogical Educational Universities)
4. MVOUs (Multidisciplinary value oriented Universities)

(1)1
(2) 2
(3) 3
(4) 4

UG W (R85 Hdie di%d AFGs! ®I UId &3 & 3539 § FgfeRad H d @I a3k
9g-favgs fien 3q disa WeR! Ay, smgasd), 3T 315 U9 & 9o ai?

1.TA 3 3R Y (@g-auae & iR 2y [Gyfaemm)
2.t § g (@ -favge g fian fayfaemem)
3. TH U1 § g (dg-Tauge e Ao fayfaememy)
4. TH 1 3l Y (Gg-favae gegi fayfaea)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33869] Question Description : dwbv_pg_gp8_eng_2_q43
2[Option ID=33870]

3[Option ID=33871]
4[Option ID=33872]

Sl. No.44
QBID:8201044




Match List | with List 1l

List |

List 11

SWAYAM National Coordinators Domain of content development

A. AICTE |. Engineering

B. UGC ll. Nontechnical Undergraduate education
C. NPTEL Il Self paced and international courses

D. CEC IV. Nontechnical Postgraduate education

1)
(2)
(3)
(4)

A W N R

Choose the correct answer from the options given below:

T.A-IW.B-N,C=l,D-l
2ZA-LB-LC-INV,D-1I
JA-ILB-M,C-I,D-1
4 A-1,B-IILC-IV,D-1I

Tl -1 &1 Gl -1l ¥ GHfed $ifoe :

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=33873]
2[Option ID=33874]

3[Option ID=33875]
4[Option ID=33876]

T -| T -1
SRR ;
Y- ae-fa®y & [Aug-&3
A TIAE AT | SeliafaT (3ifimifie)
B. g, 11 TR-T@-1® |- U4 - HAqd Q14T
. SATA-THAM (Feth U%s) 3R SRy
cEAALT BIGRER
D. W34 V. TR-TP1]- UTHa D [20&f
< fgu e et & 9 98 IR A

TA-IW,B-IILC-I,D-1
2ZA-IL,B-1LC-IV,D-1I
A-ILB-IV,C-1,D-1
4A-LB-NILC-IV,D-1

Question Description : dwbv_pg_gp8_eng_2_q44

Sl. No.45
QBID:8201045




According to the recommendation of Sarkar Committe (1945), higher technical institutes were

formed based on the in the four regions of India..

1. Imperial College of Science and Technology, UK
2. Massachusetts Institute of Technology, USA

3. California Institute of Technology, USA

4. Max-Planck Institute, Germany

1) 1
() 2
3) 3
(4) 4

WEHR AT (1945) BT GEIfadi & IR, YRd & IR &5 |
T @ = o @ T

1. SHARTS Pl 3T Wy US cadlal, 4d.
2. T Yed SRS A e, GUET

3. Bfawifar #iede e daare, LUEn

4, T -TI% S iege, oAl

1) 1
(2) 2
3) 3
(4) 4

TR TR =3 Menfrat

1[Option ID=33877] Question Description : dwbv_pg_gp8_eng_2_q45

2[Option ID=33878]
3[Option ID=33879]
4[Option ID=33880]

Sl. No.46
QBID:8201046




Read the following passage and answer the following questions that follows:

A problem with international trade is that it externalizes costs on a grand scale. Tropical
hardwood products can be sold extremely cheaply in the United States — as lumber, plywood,
shipping pallets, and so on. The environmental costs of producing those hardwood preducts occur
far from the consumer who buys a piece of cheap Brazilian plywood. Making matters worse, the
environmental costs of the plywood are usually exported to places where there are few legal
controls on pollution and resource extraction. A factory in the United States, for example, is legally
bound to minimize its production of air and water pollution. Pollution control can be expensive,
and internalizing this cost makes a factory less profitable. A similar factory in Mexico might have
far less responsibility for pollution control, making it cheaper, at least in the short term, to produce
goods there than in the United States. Ongoing protests in the United States and elsewhere
around the world against the World Trade Organization (WHO) and other forces of globalization
have been largely about such exporting and externalizing of environmental and social costs of
production.

Another criticism of international trade is that the international banking systems that finance it
are set up by and for the wealthy countries.

The WTO and GATT are both made up of relationships and agreements between corporations in
a few very wealthy countries. Representatives of less powerful countries often charge that these
agreements trap poorer regions into the role of suppliers of natural resources — timber, mineral
ores, fruit, and cheap labour. These countries are forced to mine their natural capital for only small
returns in wealth.

Frafaf@a T 31 iy ofik = g g vt & I difvm -

JRIPY AUR & WY G198 & (@ U8 M @1 ¥ UHH W §eY ™HRY &R ol §l
SUHHdT HAR BIF Idial &1 ER@ § e 9% gHl R @1 8 9dl 5- o4 adal,
WiRgs, Selell WUl d 3ic | U8 HOR HI8 SdlG! & Idla & Jaiauiy Tl 39 SUHIE § 9gd
X WF IR 9fed Bidl § o T3 SToic Qxgs @1 Ud chol Giadl ol 3R forg aa 9 Rufa ok
H¥w B9 71 91 8 98 98 & b Wege ®f uaiaReiig arTd Ieedr U RIF IR g5iaiRd 2 af
SIdl & gl UgNUl SR G9TeE sy R 9gd &H SRl HEA0 g1 SElel & w9 H SERe@T
¥ g thaedl 31U 9] SR 9c WgNUl & ARl & (U ST &4 U 9198 g1 UGN (H4=0 Ediar
B G@dl & 3R 98 39 AN @ W0 de &3] 34 haed] @l ®H dYPRI &1 9&dl ol 341 e P
Gaedl ®1 Higd®! H Uguul (A8 & HHd H HEl $H Jiialidd 8l Uhdl & o9y 39 Y HRE]
DI o1 H A @ SdGA, 9 § $F a9 aie H, T& gl 9y ®muR @ eH (wTo) 3R
YHSTI®HRU B 37 Waadl & [aes HRST AR gFaT R H 3 WHE 1R ORI Hiddle JEaadn
3G B YgTaRuig R g ard & Ul (H8id 3R ®ER & 656 36 o

SRIPIT AIUR S U 37 3= T8 & b g1 faxiuiaor o3 aredl siaRigTa sife wonfemt oft
RUEREEEANSSIBCEIEIGIE

Seg & of AR SN TA A A S UIS U e o o= § Rya el & <t & deut ofR ot
o €1 o1 Al ¢/ & i1 Sgen 98 SR oFIrd ¢ 16 g8 9iimi e &l &f o), 9w
HOH, UiGfad GUIEHA! R T o1 & Mfdaatsd @ Y@ o b ¢dl 81 3 39 dual § 0=
HeadrY & el ST Uil Uil & Glgd o fod faasl gid & |




According to the passage, international trade

A. stimulates economies

B. externalizes costs

C. is controlled by wealthy countries

Choose the correct answer from the options given below:

1. A and B only
2.Band C only
3. A and Conly
4.4 Band C

1) 1

(2) 2

(3) 3

(4) 4

TR & STER AP AR

A, rfcggere & I ®idl ol

B. cIFTd &l dlgd TG HEd] %I

C. ¥+t o= grT e e S |

i< feu U fadedl & 1 Ual ITR &1 994 B ;

1. 5dd A 3T B
2. %aaB AR C
3. BAAA AR C
4.A BIRC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33881] Question Description : dwbv_pg_gp8_eng_2_q46
2[Option ID=33882]

3[Option ID=33883]
4[Option ID=33884]

Sl. No.47
QBID:8201047




Read the following passage and answer the following questions that follows:

A problem with international trade is that it externalizes costs on a grand scale. Tropical
hardwood products can be sold extremely cheaply in the United States — as lumber, plywood,
shipping pallets, and so on. The environmental costs of producing those hardwood preducts occur
far from the consumer who buys a piece of cheap Brazilian plywood. Making matters worse, the
environmental costs of the plywood are usually exported to places where there are few legal
controls on pollution and resource extraction. A factory in the United States, for example, is legally
bound to minimize its production of air and water pollution. Pollution control can be expensive,
and internalizing this cost makes a factory less profitable. A similar factory in Mexico might have
far less responsibility for pollution control, making it cheaper, at least in the short term, to produce
goods there than in the United States. Ongoing protests in the United States and elsewhere
around the world against the World Trade Organization (WHO) and other forces of globalization
have been largely about such exporting and externalizing of environmental and social costs of
production.

Another criticism of international trade is that the international banking systems that finance it
are set up by and for the wealthy countries.

The WTO and GATT are both made up of relationships and agreements between corporations in
a few very wealthy countries. Representatives of less powerful countries often charge that these
agreements trap poorer regions into the role of suppliers of natural resources — timber, mineral
ores, fruit, and cheap labour. These countries are forced to mine their natural capital for only small
returns in wealth.

Frafaf@a T 31 iy ofik = g g vt & I difvm -

JRIPY AUR & WY G198 & (@ U8 M @1 ¥ UHH W §eY ™HRY &R ol §l
SUHHdT HAR BIF Idial &1 ER@ § e 9% gHl R @1 8 9dl 5- o4 adal,
WiRgs, Selell WUl d 3ic | U8 HOR HI8 SdlG! & Idla & Jaiauiy Tl 39 SUHIE § 9gd
X WF IR 9fed Bidl § o T3 SToic Qxgs @1 Ud chol Giadl ol 3R forg aa 9 Rufa ok
H¥w B9 71 91 8 98 98 & b Wege ®f uaiaReiig arTd Ieedr U RIF IR g5iaiRd 2 af
SIdl & gl UgNUl SR G9TeE sy R 9gd &H SRl HEA0 g1 SElel & w9 H SERe@T
¥ g thaedl 31U 9] SR 9c WgNUl & ARl & (U ST &4 U 9198 g1 UGN (H4=0 Ediar
B G@dl & 3R 98 39 AN @ W0 de &3] 34 haed] @l ®H dYPRI &1 9&dl ol 341 e P
Gaedl ®1 Higd®! H Uguul (A8 & HHd H HEl $H Jiialidd 8l Uhdl & o9y 39 Y HRE]
DI o1 H A @ SdGA, 9 § $F a9 aie H, T& gl 9y ®muR @ eH (wTo) 3R
YHSTI®HRU B 37 Waadl & [aes HRST AR gFaT R H 3 WHE 1R ORI Hiddle JEaadn
3G B YgTaRuig R g ard & Ul (H8id 3R ®ER & 656 36 o

SRIPIT AIUR S U 37 3= T8 & b g1 faxiuiaor o3 aredl siaRigTa sife wonfemt oft
RUEREEEANSSIBCEIEIGIE

Seg & of AR SN TA A A S UIS U e o o= § Rya el & <t & deut ofR ot
o €1 o1 Al ¢/ & i1 Sgen 98 SR oFIrd ¢ 16 g8 9iimi e &l &f o), 9w
HOH, UiGfad GUIEHA! R T o1 & Mfdaatsd @ Y@ o b ¢dl 81 3 39 dual § 0=
HeadrY & el ST Uil Uil & Glgd o fod faasl gid & |




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): Tropical hardwood products can be sold at very cheap rates in the United States.

Reason (R): Factories in the United States are very efficient in making hardwood products.

In light of the above statements, choose the meost appropriate answer from the options given
below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct and (R) is the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

(1)1
(2) 2
(3) 3
(4) 4

A Y CUIU G : Ud & SHUDHYA (A) 3R GUL B BRU (R) Bl 141 ¢

SHYA (A) : SUGCHHT TAR BIY IAGI @I S H SAUd I aH W ad1 o @l gl
(R) : SFRIDT H§ Bhae Al Bo X BIY SdG! & IdGT H Hdt® BHpd gl

Iuge Pyl B e | Feifed deedl # U Hg 3T g -

1. (A) 3R (R) THT TE1 & 3R (R), (A) BT TG AT B
2. (A) ¥R (R) T 981 & TR (R), (A) BT Hel AR Tl &1
3. (A) TEl 8 W (R) W&l Tel &
4. (A) TEI TR 8 W (R) eI
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=33885] Question Description : dwbv_pg_gp8_eng_2_q47
2[Option ID=33886]
3[Option ID=33887]
4[Option ID=33888]

Sl. No.48
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Read the following passage and answer the following questions that follows:

A problem with international trade is that it externalizes costs on a grand scale. Tropical
hardwood products can be sold extremely cheaply in the United States — as lumber, plywood,
shipping pallets, and so on. The environmental costs of producing those hardwood preducts occur
far from the consumer who buys a piece of cheap Brazilian plywood. Making matters worse, the
environmental costs of the plywood are usually exported to places where there are few legal
controls on pollution and resource extraction. A factory in the United States, for example, is legally
bound to minimize its production of air and water pollution. Pollution control can be expensive,
and internalizing this cost makes a factory less profitable. A similar factory in Mexico might have
far less responsibility for pollution control, making it cheaper, at least in the short term, to produce
goods there than in the United States. Ongoing protests in the United States and elsewhere
around the world against the World Trade Organization (WHO) and other forces of globalization
have been largely about such exporting and externalizing of environmental and social costs of
production.

Another criticism of international trade is that the international banking systems that finance it
are set up by and for the wealthy countries.

The WTO and GATT are both made up of relationships and agreements between corporations in
a few very wealthy countries. Representatives of less powerful countries often charge that these
agreements trap poorer regions into the role of suppliers of natural resources — timber, mineral
ores, fruit, and cheap labour. These countries are forced to mine their natural capital for only small
returns in wealth.

Frafaf@a T 31 iy ofik = g g vt & I difvm -

JRIPY AUR & WY G198 & (@ U8 M @1 ¥ UHH W §eY ™HRY &R ol §l
SUHHdT HAR BIF Idial &1 ER@ § e 9% gHl R @1 8 9dl 5- o4 adal,
WiRgs, Selell WUl d 3ic | U8 HOR HI8 SdlG! & Idla & Jaiauiy Tl 39 SUHIE § 9gd
X WF IR 9fed Bidl § o T3 SToic Qxgs @1 Ud chol Giadl ol 3R forg aa 9 Rufa ok
H¥w B9 71 91 8 98 98 & b Wege ®f uaiaReiig arTd Ieedr U RIF IR g5iaiRd 2 af
SIdl & gl UgNUl SR G9TeE sy R 9gd &H SRl HEA0 g1 SElel & w9 H SERe@T
¥ g thaedl 31U 9] SR 9c WgNUl & ARl & (U ST &4 U 9198 g1 UGN (H4=0 Ediar
B G@dl & 3R 98 39 AN @ W0 de &3] 34 haed] @l ®H dYPRI &1 9&dl ol 341 e P
Gaedl ®1 Higd®! H Uguul (A8 & HHd H HEl $H Jiialidd 8l Uhdl & o9y 39 Y HRE]
DI o1 H A @ SdGA, 9 § $F a9 aie H, T& gl 9y ®muR @ eH (wTo) 3R
YHSTI®HRU B 37 Waadl & [aes HRST AR gFaT R H 3 WHE 1R ORI Hiddle JEaadn
3G B YgTaRuig R g ard & Ul (H8id 3R ®ER & 656 36 o

SRIPIT AIUR S U 37 3= T8 & b g1 faxiuiaor o3 aredl siaRigTa sife wonfemt oft
RUEREEEANSSIBCEIEIGIE

Seg & of AR SN TA A A S UIS U e o o= § Rya el & <t & deut ofR ot
o €1 o1 Al ¢/ & i1 Sgen 98 SR oFIrd ¢ 16 g8 9iimi e &l &f o), 9w
HOH, UiGfad GUIEHA! R T o1 & Mfdaatsd @ Y@ o b ¢dl 81 3 39 dual § 0=
HeadrY & el ST Uil Uil & Glgd o fod faasl gid & |




Given below are two statements:

Statement |: Representatives of powerful countries claim that international trade agreements help
the poor regions to sell their products.

Statement II: The poor countries sell their natural resources for small gains.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
() 2
3) 3
(4) 4

U - | : TG & B HaTa! &1 aal ¢ o SiaRigg TR St M 4 $ ot S s
H Werdl Bl B

@A - 11 [ 3 U1 @ Ay & o o uiefa® dareEl & 99 ad B
SUad BUAT & D | FERad [adedl § 4 9al Ju g1 -

1. ®YT 1 AR 11 TH Tl 8l

2. YT | AR I GH Tad g

3. @ 1 el g, feg @Y 1 TTad § |
4. YA | TTe7d &, T BYA 11 HE B

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33889] Question Description : dwbv_pg_gp8_eng_2_q48
2[Option ID=33890]

3[Option ID=33891]
4[Option ID=33892]

Sl. No.49
QBID:8201049




Read the following passage and answer the following questions that follows:

A problem with international trade is that it externalizes costs on a grand scale. Tropical
hardwood products can be sold extremely cheaply in the United States — as lumber, plywood,
shipping pallets, and so on. The environmental costs of producing those hardwood preducts occur
far from the consumer who buys a piece of cheap Brazilian plywood. Making matters worse, the
environmental costs of the plywood are usually exported to places where there are few legal
controls on pollution and resource extraction. A factory in the United States, for example, is legally
bound to minimize its production of air and water pollution. Pollution control can be expensive,
and internalizing this cost makes a factory less profitable. A similar factory in Mexico might have
far less responsibility for pollution control, making it cheaper, at least in the short term, to produce
goods there than in the United States. Ongoing protests in the United States and elsewhere
around the world against the World Trade Organization (WHO) and other forces of globalization
have been largely about such exporting and externalizing of environmental and social costs of
production.

Another criticism of international trade is that the international banking systems that finance it
are set up by and for the wealthy countries.

The WTO and GATT are both made up of relationships and agreements between corporations in
a few very wealthy countries. Representatives of less powerful countries often charge that these
agreements trap poorer regions into the role of suppliers of natural resources — timber, mineral
ores, fruit, and cheap labour. These countries are forced to mine their natural capital for only small
returns in wealth.

Frafaf@a T 31 iy ofik = g g vt & I difvm -

JTRIYY YR & WY GHAI T8 § [ U8 AN o1 ¥ UHH W EEY WMWY &R Gl §l
SUHHdT HAR BIF Idial &1 ER@ § e 9% gHl R @1 8 9dl 5- o4 adal,
Wilsgs, Selell WUl d 3ic | U8 HOR HI8 SdlGl & Idla & Yaiaruiy T 39 SUHIE § 9gd
X WF IR 9fed Bidl § o T3 SToic Qxgs @1 Ud chol Giadl ol 3R forg aa 9 Rufa ok
H¥w B9 71 91 8 98 98 & b Wege ®f uaiaReiig arTd Ieedr U RIF IR g5iaiRd 2 af
SIdl & gl UgNUl SR G9TeE sy R 9gd &H SRl HEA0 g1 SElel & w9 H SERe@T
¥ g thaedl 31U 9] SR 9c WgNUl & ARl & (U ST &4 U 9198 g1 UGN (H4=0 Ediar
B G@dl & 3R 98 39 AN @ W0 de &3] 34 haed] @l ®H dYPRI &1 9&dl ol 341 e P
haedl &1 Higd®! | Uguul (HEav & d19d J S8l $9 JWialidd ol ¥hdl & o9y 39 [0y HHRE]
DI o1 H A @ SdGA, 9 § $F a9 aie H, T& gl 9y ®muR @ eH (wTo) 3R
yHSdIERU 31 o Wfeadl & e «mie ok gFar W H o wHl R 9t ufdare geraa
JdGA DI JFTaRuig SR g arTd & U4 Haid SR RIFEWR & 696 6 o

SRIPIT AIUR S U 37 3= T8 & b g1 faxiuiaor o3 aredl siaRigTa sife wonfemt oft
RUEREEEANSSIBCEIEIGIE

Seg & of AR SN TA A A S UIS U e o o= § Rya el & <t & deut ofR ot
o €| o1 Yidanel G2 & Ui Sgen g8 3R o ¢ b g It feH &t & dagl, b
HOWH, UFfad TUIEH! R T o1 & Mgfdaatsd @1 Y o b <df 81 3 33 dual § 7
HeadrY & el ST Uil Uil & Glgd o fod faasl gid & |




Poor countries are suppliers of

A. timber

B. mineral ores

C. machines

D. fruit

E. cheap labour

Choose the correct answer from the options given below:

1.A B, Cand D only
2.B,C, D and E only
3.A C DandEonly
4. A B, DandE only

(1) 1
(2) 2
(3) 3
(4) 4

ek e v 1 @ Fomerds Syl € 2

A B3I

B. Wi 3%
C. \=H

D. ®d

E. O 3H

I feu e fasdheal H U U8l IR 94 -

1. @dd A, B, C 3R D
2.%ddB, C, D ARE
3.BAAA, C, D AR E
4.PaAA, B, D IARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=33893]
2[Option ID=33894]
3[Option ID=33895]
4[Option ID=33896]

Question Description : dwbv_pg_gp8_eng_2_q49

Sl. No.50
QBID:8201050




Read the following passage and answer the following questions that follows:

A problem with international trade is that it externalizes costs on a grand scale. Tropical
hardwood products can be sold extremely cheaply in the United States — as lumber, plywood,
shipping pallets, and so on. The environmental costs of producing those hardwood preducts occur
far from the consumer who buys a piece of cheap Brazilian plywood. Making matters worse, the
environmental costs of the plywood are usually exported to places where there are few legal
controls on pollution and resource extraction. A factory in the United States, for example, is legally
bound to minimize its production of air and water pollution. Pollution control can be expensive,
and internalizing this cost makes a factory less profitable. A similar factory in Mexico might have
far less responsibility for pollution control, making it cheaper, at least in the short term, to produce
goods there than in the United States. Ongoing protests in the United States and elsewhere
around the world against the World Trade Organization (WHO) and other forces of globalization
have been largely about such exporting and externalizing of environmental and social costs of
production.

Another criticism of international trade is that the international banking systems that finance it
are set up by and for the wealthy countries.

The WTO and GATT are both made up of relationships and agreements between corporations in
a few very wealthy countries. Representatives of less powerful countries often charge that these
agreements trap poorer regions into the role of suppliers of natural resources — timber, mineral
ores, fruit, and cheap labour. These countries are forced to mine their natural capital for only small
returns in wealth.

Frafaf@a T 31 iy ofik = g g vt & I difvm -

JTRIYY YR & WY GHAI T8 § [ U8 AN o1 ¥ UHH W EEY WMWY &R Gl §l
SUHHdT HAR BIF Idial &1 ER@ § e 9% gHl R @1 8 9dl 5- o4 adal,
Wilsgs, Selell WUl d 3ic | U8 HOR HI8 SdlGl & Idla & Yaiaruiy T 39 SUHIE § 9gd
X WF IR 9fed Bidl § o T3 SToic Qxgs @1 Ud chol Giadl ol 3R forg aa 9 Rufa ok
H¥w B9 71 91 8 98 98 & b Wege ®f uaiaReiig arTd Ieedr U RIF IR g5iaiRd 2 af
SIdl & gl UgNUl SR G9TeE sy R 9gd &H SRl HEA0 g1 SElel & w9 H SERe@T
¥ g thaedl 31U 9] SR 9c WgNUl & ARl & (U ST &4 U 9198 g1 UGN (H4=0 Ediar
B G@dl & 3R 98 39 AN @ W0 de &3] 34 haed] @l ®H dYPRI &1 9&dl ol 341 e P
haedl &1 Higd®! | Uguul (HEav & d19d J S8l $9 JWialidd ol ¥hdl & o9y 39 [0y HHRE]
DI o1 H A @ SdGA, 9 § $F a9 aie H, T& gl 9y ®muR @ eH (wTo) 3R
yHSdIERU 31 o Wfeadl & e «mie ok gFar W H o wHl R 9t ufdare geraa
JdGA DI JFTaRuig SR g arTd & U4 Haid SR RIFEWR & 696 6 o

SRIPIT AIUR S U 37 3= T8 & b g1 faxiuiaor o3 aredl siaRigTa sife wonfemt oft
RUEREEEANSSIBCEIEIGIE

Seg & of AR SN TA A A S UIS U e o o= § Rya el & <t & deut ofR ot
o €| o1 Yidanel G2 & Ui Sgen g8 3R o ¢ b g It feH &t & dagl, b
HOWH, UFfad TUIEH! R T o1 & Mgfdaatsd @1 Y o b <df 81 3 33 dual § 7
HeadrY & el ST Uil Uil & Glgd o fod faasl gid & |




A consumer in the United States buys a cheap Brazilian hardwood product manufactured in
Mexico. The environmental costs of the product would occur at

A, Brazil

B. Mexico

C. The United States

Choose the correct answer from the options given below:

1. A and B only
2.Band C only
3. A and Conly
4.4 Band C

(1) 1
(2) 2
(3) 3
(4) 4

Si® | Ul JuMiad Afcas! | [AHHa I sl R 1Y 3dic Giadl ol 39 3dIg df
yoiaRuig drTd el gfed gl ¢

A. SiTSiTe

8. Afega!

C. ST

=i feu e fadeal 5 € 981 SR g -
1. a0 A 3R B
2,98 B AR C

3. WA A AR C
4.A, B3R C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33897] Question Description : dwbv_pg_gp8_eng_2_q50
2[Option ID=33898]

3[Option ID=33899]
4[Option ID=33900]

Paper II : 8-Commerce

Sl. No.1
QBID:328001




Which of the following is the right description of the "Duty Free Import Authorization (DFIA)" Scheme?

1. Duty free imports of inputs required for export production subject to certain export obligations, as stipulated in the
foreign trade policy.

2. Exemption in respect of custom duty, additional duty, education cess and anti-dumping or safeguard duties for inputs
used in exports.

3. Import of capital goods at concessional rate of duty subject to an appropriate export obligation accepted by the
importer.

4. Grant of credit on post-export basis as specified percentage of F.0.B value of exports made in a freely convertible
currency.

(1) 1
(2) 2
3) 3
(4) 4

Fofaiaa 39 oF 9 TR 9ad S TeR (& UF 313 U) W@E &1 3 are &2

1. foe=h samur Hifa o gur ey Sioun Fafd edans & waids Hafd 3 o oet @1 Y@ Tad |

2. T¥aid §q SUarT Tt o aTel ST &1 UIAT - Yoo, SHlciiia Yo, TG IUSR qUT Hfdure d 30 Ued! 9 9e e
S

3. HTA® gRI Wida qfud Fafd SUaT & €= doiliTd Jicd 1 RaEdl &3 U= S|

4. gae g © gRad=g g1 | v U Fafdl & v, o, §f. 509 & quifiaiEe uiawd & SR afd - oy, SYl & €9
H 3 e |

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33301] Question Description : bwlg_pg_com_eng_2_q1
2[Option ID=33302]

3[Option ID=33303]
4[Option ID=33304]

Sl. No.2
QBID:328002

An Indian company receiving investment from outside India for issuing shares/convertible debentures/preference shares
under the FDI Scheme should report the details of the inflow to the RBI. What is the time limit for reporting these details
to RBI?

1. Within 10 days from the date of receipt
2. Within 15 days from the date of receipt
3. Within 30 days from the date of receipt
4. Within 45 days from the date of receipt

1) 1
(2) 2
3) 3
(4) 4




DI3 HRAG DU foras Uh S 3T WHH & Siavid YAR/ARGd-1g fSdaR/ GallUeR R R &3 & o HRd & a6 4 FHaw
oo 741 1, 34 (9% UaIg @1 faarul AR EL3TE @I Ueqd &A1 dliet] 3 [awul @l REl3HS. B Wdd & &1 99g -HHT
g ?

1. Wi @t faf ¥ 10 G & iR
2. uig & fafy @ 15 gt & iR
3. Uit &t fafyr 9 30 G & ik
4. Ty BT fafy @ 45 &1 & iR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33305] Question Description : bwlg_pg_com_eng_2_q2
2[Option ID=33306]

3[Option ID=33307]
4[Option ID=33308]

Sl. No.3
QBID:328003

Which one of the following theories of attitude change states that changes in opinions can result in to an attitude change?

1. Balance Theory

2. Cognitive Consistency Theory
3. Reinforcement Theory

4. Cognitive Dissonance Theory

(1) 1
) 2
3) 3
(4) 4

siftrgfer TRad 3 Frafefad & 2 foa Rigia 3 08 o 71 & 5 R & URad & afftigh ot qRof 8 2 2

1. G @1 fHgid
2. TFETES - o &l f9gid
3. (o &1 fagid

4. GHTES T &1 gl

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33309] Question Description : bwlg_pg_com_eng_2_q3
2[Option ID=33310]

3[Option ID=33311]
4[Option ID=33312]

Sl. No.4
QBID:328004

According to Porter's diamond, which of the following is NOT a factor of national competitive advantage?

1. Relating and supporting industry
2. Firm strategy, structure and rivalry
3. Bargaining power of buyers

4. Demand conditions

1) 1




) 2
3) 3
(4) 4

UIER & ER® & STER, FHiAiad H 4 B9 | AP Wicws] Y &1 SRS Tl 6 7

1. Hefid U8 Tem@® 3am

2. U B UM, T T e
3. soaladl @ GieHR! 2fda

4. 9 $ g3t

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33313] Question Description : bwlg_pg_com_eng_2_q4
2[Option ID=33314]
3[Option ID=33315]
4[Option ID=33316]

Sl. No.5
QBID:328005

X and Y are partners sharing profits and losses in the ratio of 3 : 2. They admit Z as a new partner with 1/5 share in the
profits. Calculate the new profit sharing ratio of the partners.

1.12:8:
2.12:8:
3.12:7:
4.12:3:

=l h choun

1)
(2)
(3)
(4)

A W N R

XARYyAY IR H3: 2 F oAU ¥ BHER &1 3 2 3 UF U UEPER & &0 H WHd &3d & s ary § 1/5 B gl
TR & oy ¥ fTRERl & U S97d &1 0] S|

1.12:8:
2.12:8:
3.12:7:
4.12:3:

= h Choun

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33317] Question Description : bwilg_pg_com_eng_2_q5
2[Option ID=33318]
3[Option ID=33319]
4[Option ID=33320]

Sl. No.6
QBID:328006




At the break-even point, contribution is equal to

1. Variable cost
2. Profit

3. Fixed cost

4. Sales

1)
(2)
(3)
(4)

A W N R

o - fawse fig R oivreH FAnffad o ¥ feus aam gia g 2

1. URad! ard
2. Ty

3. RRArE
4. faspt

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33321] Question Description : bwilg_pg_com_eng_2_q6
2[Option ID=33322]
3[Option ID=33323]
4[Option ID=33324]

Sl. No.7
QBID:328007

Which one of the following is NOT true?

1. Capital expenditure results in extra capacity

2. Capital expenditure results in a benefit which will last for a long time

3. Capital expenditure results in the acquistion of a permanent asset

4. Heavy expenditure on advertisement campaigns in order to introduce a new product in the market

1)
(2)
(3)
(4)

Fafafed ¥ 4 @ te del el & 7

1. §oilvTd o099 & URUTAGEY ffaRad &5dl §7dl 8

2. YSitTd o499 & URUTHIGEY GIUdIicid oy gidl &

3. Gl oY o URUIHRGEU R ST & SH89gur gidl &

4. 99R ¥ [dl U 3Id1G &1 Wa= B & o a9 i @) Ui &g

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=33325] Question Description : bwlg_pg_com_eng_2_q7
2[Option ID=33326]
3[Option ID=33327]
4[Option ID=33328]




Sl. No.8
QBID:328008

As per the information given below, what is the correct material yield variance ?
Standard input = 100 kg

Standard yield = 90 kg

Standard cost per kg of output = Rs.20

Actual input = 200 kg

Actual yield = 182 kg

Actual cost per kg of output = Rs.19

1. Rs 40 (Favourable)

2. Rs 400 (Favourable)

3. Rs 400 (Unfavourable)
4. Rs 38 (Favourable)

(1) 1
(2) 2
(3) 3
(4) 4

< € 12 g= 9 wE o Sk (i) femaa wm g 2

AH® AT = 100 & a1

HH® Id1G Wil = 90 fb a1

3G @1 Ufd s a9@ arTd = 20 399
drdidd HETd = 200 fd A1

drdiad Ui = 182 f a1

Id1G $I Ufd a1 aRaia® arrd = 19 399

1. Rs 40 (D)
2. Rs 400 (D)
3. Rs 400 (MA@
4. Rs 38 (D)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33329] Question Description : bwilg_pg_com_eng_2_q8
2[Option ID=33330]

3[Option ID=33331]
4[Option ID=33332]

Sl. No.9
QBID:328009

When the negative income effect overwhelms the positive substitution effect so much that the demand curve is positively
sloped, the commodity in consumption is described as;

1. Normal good
2. Inferior good
3. Giffen good

4. Luxury good




1) 1
(2) 2
(3) 3
(4) 4

e THRIAD AT THE, TSRS UaRITIT THE TR 541 U USdl ¢ & A 3@ TeRIES 0 4 SR &1 3R 96 §
I SuHI a%g @l [y oRe aifd fear snar g 2

1. HHY O]
2. 9fem a5
3. A ag
4. e #1 a5

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33333] Question Description : bwlg_pg_com_eng_2_q9
2[Option ID=33334]
3[Option ID=33335]
4[Option ID=33336]

Sl. No.10
QBID:328010

In the extreme case of perfect price discrimination, the entire consumer surplus in the market goes:

1. to consumers

2. to monopoly producer
3. as deadweight loss

4. to capital

1)
(2)
(3)
(4)

A W N =

0t g fEudieee & oy ard § IR § Il Suie siftve Faffad f afsa ua e ¢

1. JUYiaIs @

2. THY9d 3G Bl

3. $3dc &fd & aR R FdRY
4. Gott @l

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33337] Question Description : bwlg_pg_com_eng_2_q10
2[Option ID=33338]
3[Option ID=33339]
4[Option ID=33340]

Sl. No.11
QBID:328011




A situation, in which economic actors interacting with one another, each choose their best strategy, given the strategies that
all the other actors have chosen, is called

1. Nash equilibrium

2. Prisoners’ dilemma
3. Deminant strategy
4. Predatory strategy

1)
(2)
(3)
(4)

A W N R

o Ul fufa, forgd onfife Seeal uReulie a1 810 31 S®1edl @ WHITGa! & 993 & Juid U+ Ga8F 0T &l
A1 Bl 8, 3Y Bel oldl & -

1. = HgeH

2. o () @1 glaen
3. QHTGRI TOMIf

4, TIqY oI

1)
(2)
(3)
(4)

A W N R

1[Option ID=33345] Question Description : bwilg_pg_com_eng_2_q11
2[Option ID=33346]
3[Option ID=33347]
4[Option ID=33348]

Sl. No.12
QBID:328012

In the Cobb- Douglas production function, Q = AK®L®, where "a" and ‘b’ are output elasticities of capital and labour,
respectively. If a + b = 1, the underlying return to scale will be

1. increasing
2. decreasing
3. constant
4. linear

1)
(2)
(3)
(4)

A W N R

Dld Sd 3G B H Q = AKPLP Sigl BT Yol UaH %H &I JdIG did-1gdl a’ 3R b §131G a + b > 1, T4 Whd g
Y UiAHd g :

1. gGdl gafl
2. 9ear gl
3.fam
4.3E0

1 1
) 2
3) 3




(4) 4

1[Option ID=33349] Question Description : bwlg_pg_com_eng_2_q12
2[Option ID=33350]
3[Option ID=33351]
4[Option ID=33352]

Sl. No.13
QBID:328013

Which one of the following institutions is not a part of the World Bank Group?

1. International Bank for Reconstruction and Development (IBRD)
2. International Development Association (IDA)

3. Multilateral Investment Guarantee Agency (MIGA)

4. The Bank for International Settlements (BIS)

1)
(2)
(3)
(4)

FrofaRaa 3 9 @F O gw fay 8@ 998 &1 YT e 82

1. $eTAT 4 IR RacaRH US Sacuie (375 8 AR 31)
2. 3T SadUHe TUIRUEH (313 31 1)

3. Acciciedd gavehe TRE] Toidl (TH 315 ol §)

4. 4@ HIR §eHIAT GeaHe (6l 375 TH)

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=33353] Question Description : bwilg_pg_com_eng_2_q13
2[Option ID=33354]
3[Option ID=33355]
4[Option ID=33356]

Sl. No.14
QBID:328014

According to the traditional approach, what is the effect of increase in degree of leverage on the valuation of a firm?

1. Increases

2. Decreases

3. Remains unaffected

4. Increases first and then decreases

1)
(2)
(3)
(4)

WA HRH & HZ0R, (6l B & Jeic R Jdia- iad of (537 H 3ig &1 o1 uHTd il g7

1. 580 gig Bl &1

2. 399 HHt Tt B

3. I8 UHIfad 981 ara g

4. Ugd 39H 9f& It § oMR R et ol €1

A W N R

1 1
) 2
3) 3




(4) 4

1[Option ID=33357] Question Description : bwlg_pg_com_eng_2_q14
2[Option ID=33358]
3[Option ID=33359]
4[Option ID=33360]

Sl. No.15
QBID:328015

An economic enterprise requires 90,000 units of certain item annually. The cost per unit is Rs 3. The cost per purchase order
is Rs 300 and the inventory carrying cost is Rs 6 per unit per year. What is EOQ?

1. 3000 units
2. 1500 units
3. 6000 units
4., 4500 units

1) 1
(2) 2
3) 3
(4) 4

T3 HMfd 39 @ Wiaay Sa9d 78 @1 90,000 T2 BT Ha=gH il 1 W ZfFe T 3 ¥0 & | Wiy e &1 armd
300 ¥UY & 3R Wid ¥ W& &1 aF1d 6 304 UTd gfe Ufd a¥ 81 anfifes srew o @ o /) fa &2

1.3000 e
2.1500 gHE
3. 6000 g
4. 4500 AT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33361] Question Description : bwilg_pg_com_eng_2_q15
2[Option ID=33362]

3[Option ID=33363]
4[Option ID=33364]

Sl. No.16
QBID:328016

Dell Ltd. has Rs 100 preference shares redeemable at a premium of 10% with 15 years maturity. The coupon rate is 12%;
the flotation cost is 5% and the sale price is Rs 95. Calculate the cost of preference shares and select the correct option.

1.12%
2.12.67%
3.13 %
4.13.33%

1) 1
(2) 2
3) 3
(4) 4




S 1. & U 100 ¥9Y & SHTEHF R ¢ o 15 auig uRumdl & 91y 10 % WIfHgs uR Hia- {61 off 9l 51 U &% 12
% & SR foRT1 EFTd 5 % &1 fdehd Hed 95 $UY | SHTT UERI &1 ARTd &1 A0HT SBIfTE SR Hel [dbed g

1.12 %
2.12.67 %
3.13 %
4.13.33 %

1)
(2)
(3)
(4)

A W N =

1[Option ID=33365] Question Description : bwlg_pg_com_eng_2_q16
2[Option ID=33366]
3[Option ID=33367]
4[Option ID=33368]

Sl. No.17
QBID:328017

Which of the following is not a characteristic of normal distribution?

1. The mean of the normal distribution may be negative or positive

2. For any normal random variable x, P(x < p,) =P(x = p,) = 0.50

3. For every pair of values g and g, the curve of the distribution is bell-shaped and symmetric
4. The kurtosis of the distribution is always less than 3

1)
(2)
(3)
(4)

FgfefEd & € P-4 gmr de 3 o 18 &

A W N =

1. SR ded ST A1 AHRIES J1 YORIED ol 9adl ol

2. oot 1t MR Oefed@ R x B AU P(x < ) =P(x = y) = 0.50

3. u 3R g AT o Ul TH & AT s @l I 3@ U & HBR 3 3R FaET edl &
4. 9 B GRERAI (GPHedl) THRI 3 U HH gl g

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33369] Question Description : bwlg_pg_com_eng_2_q17
2[Option ID=33370]
3[Option ID=33371]
4[Option ID=33372]

Sl. No.18
QBID:328018

For a Poisson distribution P(x) = %('5)2 the mean value is
1.2
2.5
3.10
4.25

1) 1




) 2
3) 3
(4) 4

U & 6 p(y) = “*’_5;5}2 FRuAE T e
1.2
2.5
3.10
4,25

1)
(2)
(3)
(4)

A W N =

1[Option ID=33373] Question Description : bwilg_pg_com_eng_2_q18
2[Option ID=33374]
3[Option ID=33375]
4[Option ID=33376]

Sl. No.19
QBID:328019

Which of the following is used to assess the relationship between two ordinal variables ?

1. Spearman’s rho
2. Phi

3. Cramer's V

4. Chi-square

(1)
(2)
(3)
(4)

A W N R

& PIE® IR & 7 day & FuRo &= & o Hafofea o 3 feas uar fearaa e 2

1. SR &1 3R U 3 (rho)
2. U1 U 3M1g (Phi)

3. IR B & (v)

4, ﬁl’gw (Chi - square)

1)
(2)
(3)
(4)

A W N R

1[Option ID=33377] Question Description : bwlg_pg_com_eng_2_q19
2[Option ID=33378]
3[Option ID=33379]
4[Option ID=33380]

Sl. No.20
QBID:328020




A "Spurious” relationship between two variables is expressed as :

1. An apparent relationship that is so curious that it demands further attention.

2. A relationship that appears to be true because each variable is related to a third one.
3. One that is so ridiculously illogical that it cannot be possibly true.

4. One that produces a perfect negative correlation on a scatter diagram.

1)
(2)
(3)
(4)

A W N R

&l 9 & i ol wRag- T8y o FRER oad [6al il 6 -

1. U Y Y&Y S a1 SUTHRU gidT § (b 38 IR G: &H ¢ &I Ha=gdbdl il el
2. U@ UH1 G9Y 9l Yol Wdld sidl & did Tdd o= fhal deR I 4 gefid g |

2. U6 U1 Ty ST 301 §I00e &0 ¥ 387 8iaT & [ 98 94ga: 981 721 & G e
4. U% UG TeY 5l UST 3G W THRIAD 98 - a8 g7 2|

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33381] Question Description : bwlg_pg_com_eng_2_q20
2[Option ID=33382]
3[Option ID=33383]
4[Option ID=33384]

Sl. No.21
QBID:328021

Which one of the following motives characterizes dominant organizational climate of clubs?

1. Extension
2. Affiliation
3. Dependency
4, Achievement

1)
(2)
(3)
(4)

FafaRad sfitR® H 9§ &F 91 U@ &9 & 9 YueTad URaR & [GR9dT aaqrdi 8 ?

1. forRT
2. Gy

3. FRa
4. Juciie

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=33385] Question Description : bwilg_pg_com_eng_2_q21
2[Option ID=33386]
3[Option ID=33387]
4[Option ID=33388]




Sl. No.22
QBID:328022

Which one of the following is the description of Ego Regression Mechanism?

1. Returning to a previous stage of psyche development

2. Avoiding unacceptable emotions by focusing on the intellectual aspects
3. Taking out impulses on a less threatening target

4. Pulling into the unconscious situation

1) 1
(2) 2
3) 3
(4) 4

FafiRad & ¥ ®F 91 U@ 318H (Ego) Wioi = HUIeH HI1 qu- § 2

1. GBI &1 Taiaeyl TR 910 3T SH|

2. difg® Ugqsl IR dhigd gidR SRdidrd Haill &1 URER &l
3. A SIRaH a&A IR U AT DI G2 BT

4. <A UGRIT B HR o ST

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=33389] Question Description : bwlg_pg_com_eng_2_q22
2[Option ID=33390]
3[Option ID=33391]
4[Option ID=33392]

Sl. No.23
QBID:328023

Which one of the following is not an advantage of organization structure by product in a manufacturing company?

1. Places attention and effort on product line

2. Requires less persons with general managerial abilities
3. Improves coordination of functional activities

4. Permits growth and diversity of products

1) 1
(2) 2
(3) 3
(4) 4

gfafaad & € @F 91 ue fafau oo § g & A9 9 Tied IEH @ Y el 82

1. € AR UG ®I 341G 1@ | TGdl 6l

2. THG Ya= il 9T &F saiaadl @ H1asa®dl slal 6
3. UBIid® Tafaiidl & YH-ag- § YUR gl |

4. 315! & fapry iR fafaear @ sgar¢ar gl

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=33393] Question Description : bwlg_pg_com_eng_2_q23
2[Option ID=33394]
3[Option ID=33395]
4[Option ID=33396]
________________________________________________________________________________________________________________________________|]




Sl. No.24
QBID:328024

Which one of the following is not an assumption under the McGregor's Theory Y?

1. The degree of commitment to objectives is in proportion to the size of the rewards associated with their achievement.

2. Under the conditions of modern industrial life, the intellectual potentialities of the average human being are only
partially utilized.

3. External control and the threat of punishment are the only means for producing effort towards organizational
objectives.

4. Average human beings learn, under proper conditions, not only to accept responsibility but also to seek it.

1)
(2)
(3)
(4)

A W N R

Fufiad o 9 & W Ue 0% PR & HGid a5 & iaiid JaUR &l 82
1. IUds ¥ Yaiferd Ufawall & AHR & 30 & 5241 8q Wiaesd &1 4 8l o
2. HIYFS i Sia- &1 Rufadl & sidvld 3fed A1Ha @1 difg® SUam il IR 9 IU9RT H ardl o urdl 1

3. §T O30T 3R €3 &1 YT WIeAa® 36201 & Uid 0ad 96 ®1 UHaE T 8l
4. g RRyfedi & SiaTid iTd A4 91 Sad SHEIEigl ®f WieR &l ¢ dicp 34 Jredl 4 8|

1)
(2)
(3)
(4)

A W N R

1[Option ID=33397] Question Description : bwilg_pg_com_eng_2_q24
2[Option ID=33398]
3[Option ID=33399]
4[Option ID=33400]

Sl. No.25
QBID:328025

The minimum capital requirement for a life insurance company in India is :

1. Rs 300 crores
2. Rs 200 crores
3. Rs 500 crores
4. Rs 100 crores

1)
(2)
(3)
(4)

A W N =

YR ¥ Sita 181 SU-l @I fhd-1 a9 Usil &1 Haddbdl 82

1.300 TRIS T
2.200 BUS B
3.500 FRS T
4.100 FUS T

1)
(2)
(3)
(4)

A W N R




1[Option ID=33401] Question Description : bwlg_pg_com_eng_2_q25
2[Option ID=33402]
3[Option ID=33403]
4[Option ID=33404]

Sl. No.26
QBID:328026

Universal banks that function as investment banks in India are regulated by :

1. SEBI

2. RBI

3. Ministry of Finance
4. IRDA

11
(2) 2
3) 3
4) 4

YR H 99 d& & ®u d &1 3 g 99Hiis d@1 &1 foue gri oo fear e g 2

1. T&t
2. ¥R
3. fau g
4.3%31

1)
(2)
(3)
(4)

A W N =

1[Option ID=33405] Question Description : bwlg_pg_com_eng_2_q26
2[Option ID=33406]
3[Option ID=33407]
4[Option ID=33408]

Sl. No.27
QBID:328027

When the REI desires to restrict expansion of credit, it :

1. increases the bank rate
2. decreases the bank rate
3. decreases the CRR for banks
4. decreases the SLR for banks

1)
(2)
(3)
(4)

A W N R

o 3R §1 31T BT B AR ulifid & 9ed & 9 U8 -

1. 9% @ § 3fE B 8

2. ¥ RO &

3. 9@ & fog W R IR H B Ha1 6
4, §%] & foU T U0 SR S Fdl g |

(1)1
(2) 2
(3) 3




(4) 4

1[Option ID=33409] Question Description : bwlg_pg_com_eng_2_q27
2[Option ID=33410]
3[Option ID=33411]
4[Option ID=33412]

Sl. No.28
QBID:328028

Which of the following refers to default-risk intermediation?

1. Borrowing short-term funds from savers and making long-term loans to borrowers

2. Making loans to risky borrowers by attracting savings from the savers who are risk-averse
3. Using information gathering skills of the intermediary

4. Pooling small amounts of savings from individuals to give loans to others

(1) 1
) 2
3) 3
(4) 4

Fgffad & € & 91 o - 9ifes goem of defifd s e?

1. TEd@AH Y TH@IA® [t SUR 1 3R IR & a1d! B Sra®led B o7l

2. 39 SEdmdil 9 994 HHHd B, SIEH IYR UTEadHal &f B &1, 5 ST - ffga 31
3. AR o Y] U3 B b DIRIS I JUURT BAT|

4. 30 @ B ¢ & 1Y ATRTd gadl @i oy AR THd BT

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33413] Question Description : bwlg_pg_com_eng_2_q28
2[Option ID=33414]

3[Option ID=33415]
4[Option ID=33416]

Sl. No.29
QBID:328029

The knowledge and courtesy of employees and their ability to convey trust and confidence indicates which of the
following?

1. Responsiveness
2. Assurance

3. Empathy

4. Reliability

1) 1
(2) 2
3) 3
(4) 4

Hi®! BT T AR THdT aUT WY 3R TAGYH ®f ad &3 @1 argal, FgfaRad g yie &t 3R Ood @ g2

1. aﬂlaaalﬁ il
2. STHTHA

3. GHEEYA
4. fagyg-gan

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=33417] Question Description : bwilg_pg_com_eng_2_q29
2[Option ID=33418]

3[Option ID=33419]
4[Option ID=33420]

Sl. No.30
QBID:328030

Which of the following is not true about rural markets?

1. Growth opportunities in rural markets are driving companies to them.

2. Information and communication technology are the drivers of change in rural markets.

3. Sociceconomic changes are yet to happen to rural markets.

4. Rural consumers shop for grocery, apparels, consumer durables of agri-inputs in nearby urban shops.

1) 1
(2) 2
3) 3
(4) 4

T e I SR F IR H T TS & 2

1. ATH] IORT H G & 3G9 HUHdl B Ul b D 4d L e o

2. AT 3R TR Uit A S6Rl H dgard & (o Saer g1

3. g -3fie agag o ol seRT & 5H1 9191 &

4. 0 IUNTE f6UH], BUS, femrs Iudiad] aequ SR S Tl &1 @GR! T & el oM 4 ®id &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33421] Question Description : bwlg_pg_com_eng_2_q30
2[Option ID=33422]

3[Option ID=33423]
4[Option ID=33424]

Sl. No.31
QBID:328031

“Manufacturers of razors and cameras often price these products low and set high mark ups on razor blades and films."
As per the above statement, manufacturers of razors and cameras are using which ane of the following ?

1. Captive-product pricing
2. Two-part pricing

3. Product-bundling pricing
4. By-product pricing

1) 1
(2) 2
3) 3
(4) 4




" IoR AR HHRI o AT 3 IAG1 & Hed B HH IGd § Adid ok &is 3R [hed IR Jed e 3@d g

JRIG Y & HIGR R R R & Fafa e g T feus suam g @R g e

1. FYAT - IAE Yoo Bl
2.18 - R A @i
3. 3d1G - YEPRS (SSIerT) Jod- Bl

4. JUITE HeoH Bl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33425] Question Description : bwlg_pg_com_eng_2_q31
2[Option ID=33426]

3[Option ID=33427]
4[Option ID=33428]

Sl. No.32
QBID:328032

A vertical marketing system (VMS) combining successive stages of production and distribution under single ownership, is
known as:

1. Corporate VMS

2. Administered VMS
3. Contractual VMS
4. Conventional VMS

(1) 1
(2) 2
(3) 3
(4) 4

Uthd WIHd & AdId JAGA AR [Ga0l S S HE TR ardl e iU [JuuHE Yored @ uH E) 69 9 | JHT
T E ?

1. e dm @

2. U diTa T

3. Gfderdre 4l T T
4. AfmEe 4 g vy

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33429] Question Description : bwlg_pg_com_eng_2_q32
2[Option ID=33430]

3[Option ID=33431]
4[Option ID=33432]

Sl. No.33
QBID:328033




The act of throwing on beard cargo and other things from the ship to safequard it from total loss in times of peril is called :

1. Jettisoning

2. Moral hazards

3. Consequential peril
4. Reverse indemnity

1)
(2)
(3)
(4)

A W N R

HTIET e o ol g1 U QRANTE od Slele R U 116 (@) AR 1 G a3 &1 B o &1 &1d dealdl g ;

1. SIEITET
2. Afq® @
3. iomET Suer

4. wigadf aifagfd

(1)
(2)
(3)
(4)

A W N R

1[Option ID=33433] Question Description : bwlg_pg_com_eng_2_q33
2[Option ID=33434]
3[Option ID=33435]
4[Option ID=33436]

Sl. No.34
QBID:328034

The right to ‘stoppage in transit’ exercised by an unpaid seller is to

1. recover price

2. retain possession
3. regain possession
4. recover damages

1)
(2)
(3)
(4)

A W N R
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1[Option ID=33437] Question Description : bwlg_pg_com_eng_2_q34
2[Option ID=33438]
3[Option ID=33439]
4[Option ID=33440]
|




Sl. No.35
QBID:328035

Which one among the following is the duty of the Central Assistant Public Information Officer or a State Assistant Public
Information Officer?

1. To receive the applications for information or appeals under the RTI Act for forwarding the same forthwith to the
CPIO/SPIO

2. To receive the fee for the RTI applications

3. To assist the CPIO/SPIO in furnishing the reply to the applicant

4. To ensure that RTI applications are replied within the prescribed period

(1) 1
) 2
(3) 3
(4) 4
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1[Option ID=33441] Question Description : bwlg_pg_com_eng_2_q35
2[Option ID=33442]

3[Option ID=33443]
4[Option ID=33444]

Sl. No.36
QBID:328036

The relationship between a bank and its customers is basically that of :

1. Debtor and Creditor

2. Trustee and Beneficiary
3. Principal and Agent

4. Drawer and Payee

(1) 1
(2) 2
(3) 3
(4) 4
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(4) 4

1[Option ID=33445] Question Description : bwlg_pg_com_eng_2_q36
2[Option ID=33446]
3[Option ID=33447]
4[Option ID=33448]

Sl. No.37
QBID:328037

Provisions of the Vivad se Vishwas Act, 2020 does not apply in respect of tax arrears relating to which cne of the following 7

1. an assessment year in respect of which prosecution has been instituted on or before the date of filing of declaration
2. any income from agricultural land in India

3. Section 10(3) dealing with tax deductions

4. assessments under Section 80 Gl of the Act

1)
(2)
(3)
(4)

A W N R
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1[Option ID=33449] Question Description : bwilg_pg_com_eng_2_q37
2[Option ID=33450]
3[Option ID=33451]
4[Option ID=33452]

Sl. No.38
QBID:328038

Under Section 80TTB of the Income Tax Act, which amount of benefits is available to senior citizens on account of interest
income from deposits with banks or post-office or cooperative banks?

1. Rs 50,000
2. Rs. 1,00,000
3. Rs. 75,000
4. Rs. 1,50,000

1)
(2)
(3)
(4)

A W N R
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1. 350,000
2.31,00,000
3. 375,000
4.%1,50,000




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33453] Question Description : bwilg_pg_com_eng_2_q38
2[Option ID=33454]

3[Option ID=33455]
4[Option ID=33456]

Sl. No.39
QBID:328039

Provisional Input Tax Credit can be utilised against

1. Any tax liability

2. Self-assessed tax liability

3. Differential income tax gains
4. Fine

OR!
) 2
(3) 3
(4) 4
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(1) 1

(2) 2
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1[Option ID=33457] Question Description : bwlg_pg_com_eng_2_q39
2[Option ID=33458]

3[Option ID=33459]
4[Option ID=33460]

Sl. No.40
QBID:328040

Penalty for late filing of the Income Tax Return for individuals under the Income Tax Act, 1961 is up to a maximum of
amount of :

1. Rs 10,000

2. Rs 25,00,000

3. 10% of Gross Total Income
4. 2% of Tax liability

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=33461] Question Description : bwlg_pg_com_eng_2_q40
2[Option ID=33462]
3[Option ID=33463]
4[Option ID=33464]

Sl. No.41
QBID:328041

Revenue expenditure of the Central government includes
A. Debt relief to farmers

B. Subsidy for fertilizers

C. Grants to states

D. Central plan allocations for rural development

E. Central plan allocation for irrigation and flood control
Choose the correct answer from the options given below:

1. A B and E only
2. A, Cand D only
3.C, Dand E only
4. A Band Conly

1)
(2)
(3)
(4)

A W N R
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33465] Question Description : bwig_pg_com_eng_2_q41
2[Option ID=33466]

3[Option ID=33467]
4[Option ID=33468]

Sl. No.42
QBID:328042

Exchange depreciation rate of one currency in relation to another currency is, approximately, equal to their
A. Inflation rate differential

B. Interest rate differential

C. Growth rate differential

D. Fiscal deficit differential

E. Forex reserve differential

Choose the correct answer from the options given below:

1. A B and C only
2.C, Dand E only
3. A and B only
4. D and E only

1) 1
(2) 2
(3) 3
(4) 4
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(1) 1
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1[Option ID=33469] Question Description : bwlg_pg_com_eng_2_q42
2[Option ID=33470]

3[Option ID=33471]
4[Option ID=33472]




Sl. No.43
QBID:328043

Which of the following activities are included under investing activities in the Cash Flow Statement?

A. Cash receipts from disposal of fixed assets (including intangible)
B. Cash advances and loans made to third parties (other than advances and loans made by a financial enterprise)

C. Cash receipts from repayment of advances and loans made to third parties (other than advances and loans of a financial
enterprise)

D. Cash repayments of amount borrowed
E. Cash payments to suppliers for goods and services
Choose the correct answer from the options given below:

1. A B and C only
2.C, Dand E only
3.Cand D only

4.4, Cand D only

1)
(2)
(3)
(4)

A W N R
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1[Option ID=33473] Question Description : bwlg_pg_com_eng_2_q43
2[Option ID=33474]
3[Option ID=33475]
4[Option ID=33476]

Sl. No.44
QBID:328044




Identify cost drivers used in Activity Based Costing from the following:
A, Volume

B. Transaction

C. Intensity

D. Currency

E. Duration

Choose the correct answer from the options given below:

1. A B and C only
2.C, Dand E only
3.A Cand D only
4.B, Cand E only

1)
(2)
(3)
(4)

A W N R
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1[Option ID=33477] Question Description : bwlg_pg_com_eng_2_q44
2[Option ID=33478]
3[Option ID=33479]
4[Option ID=33480]

Sl. No.45
QBID:328045




Increasing returns to scale arise because as the scale of operation increases it causes
A. more division of labour and specialisation

B. productive utilisation of machinery

C. lower procurement and logistic costs

D. more difficulties in managing firm effectively

E. more economies in advertising

Choose the correct answer from the options given below:

1. A B and C only
2.C, Dand E only
3.A B, Cand D only
4. A, B, Cand E only

1)
(2)
(3)
(4)

A W N R
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1[Option ID=33481] Question Description : bwilg_pg_com_eng_2_q45
2[Option ID=33482]
3[Option ID=33483]
4[Option ID=33484]

Sl. No.46
QBID:328046




Consumer rationality implies which of the following assumptions?
A. Non-satiety of needs

B. Transitivity of preferences

C. Cardinal measurement

D. Selfish economic motive

E. Ordinal measurement

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.A CandE only
4. A, Band D only

(1) 1
) 2
3) 3
(4) 4
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1[Option ID=33485] Question Description : bwlg_pg_com_eng_2_q46
2[Option ID=33486]

3[Option ID=33487]
4[Option ID=33488]

Sl. No.47
QBID:328047




A. Parent and child

B. Doctor and patient
C. Husband and wife
D. Fiance and fiancee
E. Creditor and debtor

Choose the correct answer from the options given below:

1. A B and C only
2. A, Band D only
3. A Band E only
4.B, Cand D only

1)
(2)
(3)
(4)

A W N R
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(2)
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Which of the following relationships raise presumptions of undue influence?

1[Option ID=33489]
2[Option ID=33490]
3[Option ID=33491]
4[Option ID=33492]

Question Description : bwlg_pg_com_eng_2_q47

Sl. No.48
QBID:328048




The Internal Rate of Return (IRR) method offer which of the following advantages?
A. It recognises the time value of money

B. It is consistent with the shareholders® profit-maximization objective also

C. It considers all cash flows occurring over the entire life of the project

D. It generally gives the same acceptance rule as the NPV method

E. It considers all positive NPV over the entire life of the project

Choose the correct answer from the options given below:

1. A B and C only
2.B, C and E only
3.A B, Cand D only
4. A Dand E only

(1) 1
) 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33493] Question Description : bwlg_pg_com_eng_2_q48
2[Option ID=33494]

3[Option ID=33495]
4[Option ID=33496]
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QBID:328049




Which of the following are the off-balance sheet source(s) of finance?
A, Securitisation

B. Factoring

C. Forfaiting

D. Operational lease

E. Credit rating

Choose the correct answer from the options given below:

1. A and E only

2.B, C and E only
3. A Band Conly
4.A B, Cand D only

1)
(2)
(3)
(4)

A W N R
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1[Option ID=33497] Question Description : bwlg_pg_com_eng_2_q49
2[Option ID=33498]
3[Option ID=33499]
4[Option ID=33500]

Sl. No.50
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Which of the following factors influence portfolio beta?
A. Portfolio size

B. Investment longevity

C. Trading volume

D. Return interval (weekly vs. monthly)

E. Portfolio leverage

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.D and E only

4.A B, Cand D only

1)
(2)
(3)
(4)

A W N R
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1[Option ID=33501] Question Description : bwlg_pg_com_eng_2_q50
2[Option ID=33502]
3[Option ID=33503]
4[Option ID=33504]

Sl. No.51
QBID:328051




A contract of life insurance is a/an

A. Indemnity

B. Wagering agreement

C. Contingent agreement

D. Assurance

E. Guarantee

Choose the correct answer from the options given below:

1. A CandE only
2. A and D only
3.B,Cand E only
4.Cand D only

1)
(2)
(3)
(4)

A W N R

e & ey P H S ® - F e 2

A. &fagfd

B. dTeil R

C. HIH IR

D. S
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2.%ad A R D
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1)
(2)
(3)
(4)
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1[Option ID=33505] Question Description : bwlg_pg_com_eng_2_q51
2[Option ID=33506]
3[Option ID=33507]
4[Option ID=33508]

Sl. No.52
QBID:328052




Which of the following statements are rightly expressed in relation to statistical testing?

A. When the expected frequencies are too small, the value of y2 will be overestimated and will result in too many rejections
of the null-hypothesis

B. Mann-Whitney test assumes that population is normal
C. Kruskal-Wallis test is similar to one-way analysis of variance

D. The homogeneity of variance means that the test is concerned with the hypothesis that the identical means came from
the same population

E. Student’s t-Distribution is by definition normal
Choose the correct answer from the options given below:

1. A B and D only
2.B, Cand D only
3. A CandE only
4.Cand D only

1)
(2)
(3)
(4)

A W N R
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3. Wad A, C3IRE
4. BadC 3R D

1)
(2)
(3)
(4)
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1[Option ID=33509] Question Description : bwlg_pg_com_eng_2_q52
2[Option ID=33510]
3[Option ID=33511]
4[Option ID=33512]
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Which of the following are distinctive characteristics of the Performing stage of the Group Building Process?

A. The Group gains its identity

B. Leadership is shared

C. Disengagement from relationships

D. Group morale is high

E. Group loyalty is intense

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.A Dand E only
4.C, Dand E only

1)
(2)
(3)
(4)

A W N R
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1. ®ad A 3R B
2. 5qaB AR C

3. HddA DIRE
4.HaAC, DARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=33513] Question Description : bwlg_pg_com_eng_2_q53
2[Option ID=33514]
3[Option ID=33515]
4[Option ID=33516]
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Which of the following are characteristic quadrants of the BCG matrix ?
A. Cash cows

B. Question mark

C. White Elephant

D. Crown Jewel

E. Dogs

Choose the correct answer from the options given below:

1. A B and E only
2. A, Cand D only
3.B,Cand E only
4.C, Dand E only

1)
(2)
(3)
(4)

A W N R
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1. Had A B AR E
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3. $ddAB, C ARE
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(2)
(3)
(4)
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1[Option ID=33517] Question Description : bwlg_pg_com_eng_2_q54
2[Option ID=33518]
3[Option ID=33519]
4[Option ID=33520]

Sl. No.55
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The following tools are used for forecasting the supply of inside candidates for human resource planning
A. Scatter Plot

B. Personnel replacement charts

C. Managerial judgement

D. Markov Analysis

E. Trend Analysis

Choose the correct answer from the options given below:

1. A and C only
2.C, Dand E only
3.B,Cand E only
4.B and D only

1)
(2)
(3)
(4)

A W N R
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2.0 C, D ARE
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4. Had B AR D
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(2)
(3)
(4)
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1[Option ID=33521] Question Description : bwlg_pg_com_eng_2_q55
2[Option ID=33522]
3[Option ID=33523]
4[Option ID=33524]
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Which of the following statements are correct?

A. NEFT allows the customer to transfer funds with a maximum limit of Rs 3,00,000 per day

B. IMPS allows to transfer funds in an Insta Payment Mode

C. The minimum limit to transfer funds via RTGS is Rs 2,50,000

D. Instant Real Time Payment System developed by National Payment Corporation of India is UPI
E. For clearing of cheques under Positive Pay System (PPS), the minimum limit is Rs 50,000
Choose the correct answer from the options given below:

1.B and D only
2.Cand E only
3. A and B only
4.Cand D only

1)
(2)
(3)
(4)

A W N R
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1.®9a B 3R D
2. a0 C AR E

3. Had A 3R B
4. BAAC AR D

1)
(2)
(3)
(4)

A W N =

1[Option ID=33525] Question Description : bwlg_pg_com_eng_2_q56
2[Option ID=33526]
3[Option ID=33527]
4[Option ID=33528]

Sl. No.57
QBID:328057




Which of the following statements are correctly expressed in relation to capital and credit flows?

A. Theoretically, regulators of financial markets believe that increasing capital requirements on banks could reduce the
likelihood of their failure

B. Open financial markets are solely influenced by the currency rate movements

C. Financial inflow reflects the net flow of capital into one country in the form of increased purchases of domestic assets by
foreigners

D. Tier Il Capital for banks include Perpetual Debt Instruments
E. Only private banks in India have implemented Basel lll guidelines
Choose the correct answer from the options given below:

1.C, D and E only
2.B, Cand E only
3.A, Cand D only
4. A and B only

1)
(2)
(3)
(4)

A W N B

E AUl a9 & T & Gey H &H 4 DY Gel 6 ?

A Rgiad: [a<iig SRl & Fam®! &1 JF-1 § (& 96! @1 Yol azaadis ® gel B2 [abadl @] SRIaH] Bl U2l S Hhdl
Bl
B. ! fawig SI9R A Hal &X 990 gRI JHIad eid o
C. Tl &2 & ol Usil WHIT Dl TaiTg e faaiRmal gR1 ove] UREURE! @1 gedl Eiie & ¥4 H Widieiead dial |
D. daf o foru femR 1 Uit & el v forad a2
E. YRA & dad ol 9! = 3fta 11 -t & ang fam 21
i< feu 7Tu fadedl 5 9 98l IR 9 -
1.®aa C, D AR E
2.%qd B, C ARE

3. HAdA, C 3R D
4. Had A 3R B

1)
(2)
(3)
(4)

A W N R

1[Option ID=33529] Question Description : bwlg_pg_com_eng_2_q57
2[Option ID=33530]
3[Option ID=33531]
4[Option ID=33532]

Sl. No.58
QBID:328058




Holistic marketing recognizes that a broad integrated perspective is necessary. Which of the following are the components
of Holistic marketing?

A. Direct marketing

B. Relationship marketing

C. Internal marketing

D. Socially responsible marketing

E. Green marketing

Choose the correct answer from the options given below:

1.B and C only

2.B, Cand D only
3. A Band Conly
4.C, Dand E only

1) 1
(2) 2
3) 3
(4) 4

Yocgarg] [qUuH Us a® 3R UhIpd edIv ] Hawaddl @I A-adl HaH ®dl 6| Fafiied & 8 oH-9H g@dak!
fuR g § 2

A. U fauue
B. H9g®RI [qquH
C. Hidaie® fauuH

D. HHIfSI® ¥4 d SwRerl fauuH

. g fauuH @i A ien)

i< feu T fasenl 5 94 98 Iw g -
1.®ad B 3R C
2.Had B, C IR D

3. ®WAAA, B AR C
4.%adC, D ARE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33533] Question Description : bwilg_pg_com_eng_2_q58
2[Option ID=33534]

3[Option ID=33535]
4[Option ID=33536]

Sl. No.59
QBID:328059




Which of the following statements are true for Direct Marketing?

A. Direct marketing is an interactive mode of marketing

B. Direct marketing model is based on Network marketing and multi-cultural marketing

C. Globalisation of markets and the internet have facilitated the growth of direct marketing
D. Future of direct marketing in India is independent of use of debit and credit cards

E. Direct marketing activities are not location specific

Choose the correct answer from the options given below:

1. A and B only
2.B, Cand D only
3.A CandE only

4. A, C DandEonly

1)
(2)
(3)
(4)

A W N R

T fAUUH (SEee Hidien) & Y § Mufifad sy 9 e 98l 8 2
A WE FIUUH TP gIR @ nyifad &3 arell fauvH s g

B. W [quuH Alsd ead Ale (1 3R Actibedra HId 7 W 31HUIRG ¢
C. SIIRI BT IR0 3R gexe H Uel fquuH &f 71fd o 7 werad &1 5|
D. HRd H Y&l [quuH &1 Higw Sfae 3iR $igc B8l & SUTRT § SUHIEd |
. U fquum &1 Tifafafial ®iH-fafy =81 gl 1
i< feu U fadeal # 4 981 3w g -

1. 590 A AR B

2.%ae B, C R D

3. HaA A, CIARE
4. BAAA C DIARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=33537] Question Description : bwlg_pg_com_eng_2_q59
2[Option ID=33538]
3[Option ID=33539]
4[Option ID=33540]

Sl. No.60
QBID:328060




An ideal advertisement (ad) campaign would ensure that

A. The ad motivates consumers to consider purchases of the brand

B. The ad gives maximum possible product knowledge to the customer

C. The ad causes the consumer to pay attention but does not distract from the intended message

D. The ad properly reflects the consumer's level of understanding and behaviours with the product and the brand
E. The right consumer is exposed to the right message at the right place and at the right time

Choose the correct answer from the options given below:

1. A B and E only
2.C, Dand E only
3.A B, Cand D only
4. A, C DandEonly

(1) 1
) 2
3) 3
4) 4

HTeH fauH T g YHigd & -

A. TEIT0 SUHTERTIST B 376 515 Bl Tl W =GR $3 B URd R 5

B. fa=iTT IuHiadT & YHIGd Id1E &1 SPad SHERI 3Uds Bl o

C. fasiTuH Iusiad! & b iid g+ oI URd dl Hedl & Ui AT He i Higrd Tl gi- adll
D. &S0+ SuHTEITi & JIE 3R I8 §1s BI §H 3R HoUaeR & ©R @ 98l &0 § G 8|
£. U TEl JUHIG F51 Ho ¥ WEl WM 3R g §9Y W a4 il &

i< feu U fadeal # 4 981 3w g -

1.BaAA, B HRE
2.%aqaC, D ARE
3. BATA, B, C3IR D
4. HaAA, C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33541] Question Description : bwilg_pg_com_eng_2_q60
2[Option ID=33542]

3[Option ID=33543]
4[Option ID=33544]

Sl. No.61
QBID:328061




The Information Technology Act, 2000 in India provides legal recognition to which of the following?
A, Electronic books of accounts in banks

B. Electronic commerce

C. Electronic negotiable instrument

D. Electronic signature

E. Electronic sale and conveyance of immovable property

Choose the correct answer from the options given below:

1. A B and C only
2.C, Dand E only
3.B, D and E only
4. A, Band D only

(1) 1
) 2
3) 3
4) 4

YRA H g1 WEifet HfUFgH, 2000 FERed H 9 {69 S 5RG UeH S & 2
A. ST H gerael-e <l gierail
B. SCiaC-Idh aIfurey
C. 3AdeH® Uh ferad
D. TR FEIER
E. Sadaei-ab fashd 3R 3<d T BT g&iaol
i<l feu 1u fadedl & 4 981 SR g -
1.Ha A, B AR C
2.59AC, D ARE

3. $dd B, D AR E
4.HddAA B AR D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33545] Question Description : bwilg_pg_com_eng_2_q61
2[Option ID=33546]

3[Option ID=33547]
4[Option ID=33548]

Sl. No.62
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To make the resolution process faster and maximize the realisable value of assets under Insolvency and Bankruptcy Code
(IBC), the Parliamentary Standing Committee has recommended strengthening India's insolvency resolution ecosystem by

A. A professional code of conduct for the committee of creditors

B. Constitution of specialized National Company Law Tribunals (NCLT) benches to hear IBC matters
C. Strengthening the role of resolution professionals

D. Digitising IBC platforms

E. Strengthening and promotion of Asset Reconstruction Companies
Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.A, B, Cand D only

1)
(2)
(3)
(4)

A W N =

e wiea @1 iR G UeH &=+ U@ IRTmhud! & ago-ig Ood © g @ (o 9uciy W 9 yRa &
fEaferar= fafaieq & & feud 1o @ geg 9 & e a1 8

A. FUCTAIE & WiAfd & Y T caraiiie SR died
8. 213 ol 9l AIHCl @ GIaTE v AP SO fay AfEeu @ 9 ua ) @1 famiv 591 &1 18
c. faf e oaaia®! @ YT gee s
D. 313 &1 4l #dl &I [Seiiciu
£. uRguf qAHE Gulal &1 geeidiur td Hagd
i< feu e faweal 5 9 981 IR 9 -
1.Pad A, B 3R C
2.%4qa B.C 3R D

3. WA C, D ARE
4. HadA, B, CHRD

1)
(2)
(3)
(4)

A W N R

1[Option ID=33549] Question Description : bwlg_pg_com_eng_2_q62
2[Option ID=33550]
3[Option ID=33551]
4[Option ID=33552]
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In which of the following methods, a contract is said to be discharged by mutual consent?
A. Novation

B. Recission

C. Remission

D. Alteration

E. Accord and Satisfaction

Choose the correct answer from the options given below:

1. A B and E only
2.B, Cand D only
3.A B, Cand D only
4.4, B, C DandE

1)
(2)
(3)
(4)

A W N R

fFrafciad feot uRiRyfoal = fardl Sidel @1 URER® HeHid gR1 Suied | S ?
A. TaER
B. FREH
C.IRER
D. 3Gd - dad
E. T 3R TP
i<l feu 1u fadedl & 4 981 SR g -
1. Had A B AR E
2.%9d B, C AR D
3. B A, B, CHRD

4.A B CD3RE

1)
(2)
(3)
(4)

A W N =

1[Option ID=33553] Question Description : bwilg_pg_com_eng_2_q63
2[Option ID=33554]
3[Option ID=33555]
4[Option ID=33556]

Sl. No.64
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Duties of bailor include

A. Take care of goods

B. Bear extraordinary expenses

C. Return accretion to the goods

D. Indemnify the bailee

E. Disclose known faults

Choose the correct answer from the options given below:

1. A B and E only
2. A, Cand D only
3.B,Cand D only
4.B, D and Eonly

(1) 1
) 2
3) 3
(4) 4

JURYE & Fuffad 4@ - s Y Sda & 7

o feu U fadeal H U Uel IR 94 -
1.5dd A B IR E
2.HAAA, C3HR D

3. HadB, C AR D
4. HadAB, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33557] Question Description : bwlg_pg_com_eng_2_q64
2[Option ID=33558]

3[Option ID=33559]
4[Option ID=33560]

Sl. No.65
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Expenses that are not deductible under Section 58 of the Indian Income Tax Act for computing the income chargeable
under the head "Income From Other Sources™

A. Personal expenses

B. Interest payable outside India on which tax has not been paid or deducted at source

C. Wealth tax

D. Commission for realizing dividend income or interest on securities

E. Expenses which are not of capital nature like repairs, depreciation on plant and insurance premium
Choose the correct answer from the options given below:

1. A B and D only
2. A Band Conly
3.A B, DandE only
4.4 B, C DandE

1) 1
(2) 2
3) 3
4) 4

3T Al § 31 2 & Sfdild offg ey & URSeH od o0 HRAIG ATG@: HUFRH B 4RI 58 & Adid dH 9t
Heladi A TRl & :
A, st oo
B. YRd & &ex YTIa1 17 TS ford R R e 421 [hd1 7191 51 31d] Fid W ®elal el i 41 8l
C. GUar a¥
D. Uferyferat & TIHi=T ST SfudT saTsl agel & fa7g Gard (@H1EM)
E. oY Sl fdh Ul Uahfd & el & : ofY HAX9d, §93 &l g1 d ar|1 WifEs
i e e fasmedl 5 9 9l I 9 -
1.®ad A B3R D
2.Had A, B #R C

3. ®BAAA, B, D AR E
4.A B CD3RE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33561] Question Description : bwlg_pg_com_eng_2_q65
2[Option ID=33562]

3[Option ID=33563]
4[Option ID=33564]

Sl. No.66
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Match List | with List Il

List | List Il
Name of Theory of
International Trade Description

A. Heckscher-Ohlin Theory

I. The ability of a nation to produce the goods more efficiently and effectively than any other
country

B. Country Similarity Theory

IIl. Theory stating that trade occurs between nations that have similar characteristics such as
economic, geography and cultural characteristics

C. Theory of Mercantilism

lll. The theory that a nation will export the goods whose production requires intensive use of
the nation's relatively abundant and cheap factors and import goods when production
requires intensive use of its scarce and expensive factors

D. Absolute Advantage
Theory

IV. Theory that aims at accumulating financial wealth in terms of gold by encouraging
exports and discouraging imports

Choose the correct answer from the options given below:

TA-IW,B-IILC-1,D-1
2ZA-IV,B-IILC-1,D-1
A-ILEB-ILC-1IV,D-1
4A-NLB-II,C-1,D-IV

1) 1
() 2
3) 3
4) 4




A TRR- | 6 Ud o= gRI GO o¥ &I ga-1 | 71
Jiglem @ fU® $ad Idd arld wHIfadr 9
Rgid UG B BT =

B. GXI 11 39 FSia & 3FUR SUR 34 o)1l & &g
IIl. 39 TG & HT9R DI3 o= 34 I3
1 Faid BT oD SaGT A 39 e &
C. TS0 |2Uadhd 950 IR TR DRET BT J9-
fogia SUGNT &1 SR UH gl &1 S SOl
S 39d g SR Hgll HR®| & Jo-
TR &l

D.FRug |Iv.3EUEa o1 asg ¢ Fald & oea @
Ty A B Fedied X Wl & ©UH
gid faig Hugl & HI80

e e et # 9 8 SR AT

TA-IW,B-IIlLC-1,D-1
2ZA-IV,B-ILC-1,D-1
.A-ILEB-ILC-1IV,D-1
4A-NLB-II,C-1,D-1V

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33565] Question Description : bwlg_pg_com_eng_2_q66
2[Option ID=33566]

3[Option ID=33567]
4[Option ID=33568]

Sl. No.67
QBID:328067

Match List | with List 11

List | List 11

Ind AS Topic (Subjects)

A Ind AS 37 l. Insurance contracts

B. Ind AS 104 [l. Inventories

C.Ind AS 2 [Il. Provisions, Contingent Liabilities and Contingent Assets
D.Ind AS 19 IV. Employee Benefits

Choose the correct answer from the options given below:

T.A-NILB-1,C-1,D-1IV
2ZA-LB-ILC-M,D-1V
A-VEB-U,C-II,D-1
448-1LB-I,C-1,D-1IV

1) 1
) 2




(3) 3
(4) 4

Tl -1 &1 Gl -1l ¥ GHfed ST :
Tl -| Tl -1

Gsuwm  |fqum)
A ZSUTH 37 || &HF HIEY
B.3S U Y

104 I 4

) 111, TG, GRT G 3R 81
CREUW2 | e

D.$SUTH 19 |IV. FHIRI @Y
Jr= feu e fadent § 9 98l IR g

TA-ILB-LC-1,D-1V
2ZA-LB-ILC-U,D-1V
3A-IV,B-IILC-I,D-1
4 A-1ILB-1I,C-1,D-1IV

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33569] Question Description : bwlg_pg_com_eng_2_q67
2[Option ID=33570]

3[Option ID=33571]
4[Option ID=33572]

Sl. No.68
QBID:328068

Match List I with List Il

List | List Il

Cost Concepts Description

A. Explicit cost l. Costs that do not require any outlay of money by the firm

B. Implicit cost Il. A cost that has already been committed and cannot be recovered
C. Total cost 1. Costs that require an outlay of money by the firm

D. Sunk cost IV. Market value of all inputs that a firm uses in production

Choose the correct answer from the options given below:

TA-ILB-IV,C-1LD-1
ZA-ILB-IV,C-1II,D-1
3.A-ILB-L,C-IV,D-1
4AA-NL,B-IV,C-1I,D-1

1) 1
(2) 2
3) 3
(4) 4




- -l
(@
STYRUT) (o
. U8 arTd o e foedlt ot g
A IR o ufoma 11 @1 anraxamal 76 gl
I1. Ut ST fomidh1 Ugd 81 oo T <
5 TR {12 o o2 e = o T
111, U8 STa fords o it Sudt g
C @ AFTd ey A & Savasdigidl &
D. agcHIE |Iv. 9l SUGE! & IR Hed RI®] Sy
< fgu e fdent & 9 9g IR g

TA-ILBE-IV,C-1,D-1
2ZA-IL,B-IV,C-1II,D-1
A-ILB-L,C-IV,D-1
4 A-NLE-IV,C-1,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=33573]
2[Option ID=33574]
3[Option ID=33575]
4[Option ID=33576]

Question Description : bwlg_pg_com_eng_2_q68

Sl. No.69
QBID:328069

Match List | with List Il

List 1

List Il

Type of Bonds

Description

A. Euro bonds

I. Bonds denominated in US dellar and issued in the USA

B. Global bonds

Il. Bonds denominated in a foreign currency and are offered for simultaneous placement in different
countries

C. Yankee bonds

lIl. When the bonds issued in a foreign country and are denominated in a currency other than the
currency of the country where the bonds are issued

D. Samurai bonds

IV. Bonds denominated in Japanese Yen and issued in Japan

Choose the correct answer from the options given below:

T.A-ILB-1I,C-1,D-1V
2ZA-IV,B-IILC-II,D-1
.A-ILB-IV,C-1LD-1I
4 A-NLB-1,C-1V,D-1

1)
(2)
(3)
(4)

A W N R




Tt -1 B gt -1 o gAfed st
- -

GIEE

TPR) | TR

AT |l 3E® SIaR F Sifthd ST sEdieT | o
GIfE] Gl

B. alaa |11 facal gar H #ifdhd <R ud 91y FaeH &
s [fow fafie o=t o TR @i

1. 579 Uep fqeit 3y H SR §is 39 42 &l gg1
4 iz g # sifed gid § oigl I Wkl fbar
RG]

;:;‘33 v, ST 3 7 S 2 STar A @ wis

i fEu U Edeul H 9 T8l SR gAY

T.A-ILB-1I,C-1L,D-1V
2ZA-IV,B-IILLC-II,D-1
.A-ILB-IV,C-1L,LD-1I
4 A-NLB-1,C-1V,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=33577] Question Description : bwlg_pg_com_eng_2_q69
2[Option ID=33578]
3[Option ID=33579]
4[Option ID=33580]

Sl. No.70
QBID:328070

Match List | with List 11

List | List 11

Sampling methods Descriptions of situation

A. Multi-stage Sampling|l. Specified number of respondents in best position to provide the desired information

B. Systematic Sampling |Il. Heterogenous sub-populations

C. Judgement Sampling |lll. Widely spread population and random sampling not possible

D. Stratified Sampling  |IV. Elements of population arranged in some order

Choose the correct answer from the options given below:

TA-ILE-IV,C-1,D-1
2ZA-NLB-IV,C-1,D-1
A-LB-ILC-I,D-1V
4 A-1LB-1I,C-1,D-IV

1)
(2)
(3)
(4)

A W N R




G -1 T

Il ¥ gHfAd Difee

Tl -l Tl -1l

@ &

T @Rfyfq faazon

A. G - IRUNY |1, 9ifesd Ya1 UeH e & oy Gdsg
e ufe 7 ufaarfeal o faffdy d=m
5. gﬁ_ a I1. {995 3 - S

c. oA 11l TP &Y Y fawiivf SH= SR
o SN Wy

D. Tiiigd .
S Iv. Tl a1 H afyd SHeiRe & @
< fgu e fdent & 9 9g IR g

TA-ILE-IV,C-1,D-1
2ZA-NLB-IV,C-1,D-1
A-LB-ILC-I,D-1V
4458-1LB-I,C-1,D-IV

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=33581] Question Description : bwlg_pg_com_eng_2_q70
2[Option ID=33582]
3[Option ID=33583]
4[Option ID=33584]

Sl. No.71
QBID:328071

Match List | with List Il

List 1

List Il

Leadership Style

Description

management

A. Impoverished |. Work accomplished is from a committee of people with interdependence through a common

stake in organizational purpose and with trust and respect

B. Team managers

Il. Exertion of minimum effort is required to get work done and to sustain organizational
morale

management

C. Country club

[1l. Efficiency results from arranging work in such a way that human elements have little effect

D. Autocratic task managers

IV. Thoughtful attention to the needs of people leads to a friendly and comfortable
organizational atmosphere and work environment

Choose the correct answer from the options given below:

TA-LB-ILC-1V,D-1I
ZA-ILB-1LC-U,D-1V
3.A-ILE-1L,C-IV,D-1I
4A-IV,B-1,C-1II,D-1

1) 1
(2) 2
(3) 3
(4) 4




I, faum 3R 99E & 9 3R SeTE
A BHIAS (350 B YR HRIGRT & AW ¥ d
PERE] e g ufdes a9 o e
EEIH

I1. BT B o AR STeAIED g4ad @l
B. A USltH 91T W& 3 TiaH Uad & WA &
gzuedl gl &

) . PRI U & 8q B &l 38 UBR
C.G RS [oqafRyd Sl foreH AMEIg ded o Mg
EEEE! CLK]

- g V. TR @ HTa=Gdhdl o fdd- guf e
;ﬁﬁ% Udh Aad 3R Gare SaHIES uia™
3R B B SR geral 8
i feu e fadedl § 9 9al IR 90

TA-LE-ILC-IV,D-1
2ZA-ILB-1LC-U,D-1V
3A-ILBE-1L,C-1V,D-1
4A-IV,B-1,.C-IIlLD-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33585] Question Description : bwlg_pg_com_eng_2_q71
2[Option ID=33586]

3[Option ID=33587]
4[Option ID=33588]

Sl. No.72
QBID:328072

Match List I with List Il

List | List I
Interest rates ..
Description
A. Policy Rate . RBI lending rate to commercial banks without security
Il. RBI lending rate when commercial banks borrow money by purchasing securities
B. Repo Rate .
issued by RBI
C. MCLR lII. Internal benchmark rate for financial institutions and banks
D. Bank Rate IV. Rate established by RBI to influence the main monetary variables in the economy

Choose the correct answer from the options given below:

TA-LE-IV,C-1IL,D-1
2ZA-IV,B-1LC-1II,LD-1
3A-IV,B-ILC-1LD-I
4A-1ILB-IV,C-1,D-1I

1) 1
) 2
3) 3




(4) 4

Tl -1 & Gl -1l ¥ GHied Sifae :
Tl -l Tl -l

@Y ()
1. &1 qRa&N & SRETeTg g arfiodd
ATIRIRE |2 o o 3 @2

II. HIRETSHTS GRI SR - @1 &3, o d
B.3UIYE aftioas d& ufayfad (Ra.emE. gr
i ) B Wiie P U YR Td &

C. 1. fa<ira d=uaii 2R §&f & fom sialk®
T UM, [d9HD &

I Iv. sferae © 7@y Hifge @ & uHidd
' H P 0T R ALME. FRIRUT &
< fgu e fadent § 9 9g IR AT

T.A-LBE-IV,C-1IL,D-I
2ZA-IV,B-1.C-IILD-1
3.A-IVB-ILC-ULD-1
4A-1ILBE-IV,C-1,D-1I

1)
(2)
(3)
(4)

A W N R

1[Option ID=33589] Question Description : bwlg_pg_com_eng_2_q72
2[Option ID=33590]
3[Option ID=33591]
4[Option ID=33592]

Sl. No.73
QBID:328073

Match List | with List 11

List | List 11

Market Expansion Strategies Description

A. Market Penetration l. New products, New markets

B. Market Development Il. Existing markets, Existing products
C. Product Development 1. Existing products, New markets
D. Diversification IV. Existing markets, New products

Choose the correct answer from the options given below:

TA-LE-ILC-U,D-1V
2ZA-LB-IL,C-1,D-1V
3A-ILB-IV,C-1,D-1
4 A-1LB-1L,C-1V,D-1

1)
(2)
(3)
(4)

A W N R




- -1l

(@SR fd%R &1 Tl |([@azm)

A, STSR 98 1. 7T IdTG, 7Y §6IR

B. IOk fa@m™ II. HIS[ET SI9R, Hial 391G
C. IS faTd I, HiEl 31E, U IR
D. fafgsfiam V. TGl 919iR, Y 3016
o fGu U fadeat o © Uel SR gHU :

T.A-LB-ILC-1,D-1V
2Z2A-1LB-,C-1,D-1IV
A-ILB-IV,C-1,D-1I
4 A4-1LB-N,C-1V,D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33593] Question Description : bwlg_pg_com_eng_2_q73
2[Option ID=33594]

3[Option ID=33595]
4[Option ID=33596]

Sl. No.74
QBID:328074

Match List | with List Il

List | List Il

Insurance contracts Presence (time) of insurable interest

A. Marine insurance l. Both at the time of contract as well at the loss of subject matter
B. Life insurance Il. Throughout the contract of insurance

C. Fire insurance ll. At the time of loss of the subject matter

D. General insurance IV. At the time of insurance contract effected

Choose the correct answer from the options given below:

TA-IW,B-ILC-1I,D-1
ZA-NLB-IV,C-1,D-1
3A-LB-IV.C-1,D-1I
4A-NILBE-1,C-IV,D-1

(1) 1
(2) 2
(3) 3
(4) 4




-l -1l

@ ey (& Ay B @1 Suiiia 9e)
. &1, Hfaer & avg Ut fowg 9l &

A idg 51 B
B.offigT diTr (1. grgof dfr gfder SR
g}.{m&rﬁlw n. e s e o g W
D i v, ST Sfaer guE 1 & 99 W
d feu e fadeal # 4 Ugl 3R gHU :

TA-IMB-ILC-UL,D-1
ZA-NLEB-IV,C-1,D-1
3.A-LE-IV,C-1I,D-1I
4 A-NLB-1,C-IV,D-1

1)
(2)
(3)
(4)

A W N B

1[Option ID=33597] Question Description : bwlg_pg_com_eng_2_q74
2[Option ID=33598]
3[Option ID=33599]
4[Option ID=33600]

Sl. No.75
QBID:328075

Match List | with List Il

List | List Il
Tax deductions Relevant Sections
A. Deduction in respect of rent paid l. 80 GGC

B. Deduction in respect of contribution given by company to political parties |Il. 80 GG

C. Deduction in respect of contribution given by any person to political parties|lll. 80 GGA

D. Deduction in respect of certain donations for scientific research IV. 80 GGB

Choose the correct answer from the options given below:

TA-ILB-L,C-IV,D-1
2ZA-IV,B-ILC-NL,D-I
A-ILE-IILC-1L,D-1V
4A-LB-IV.C-1I,D-1I

1)
(2)
(3)
(4)

A W N R




Tt -1 B gt -1 o gAfed st

-1 g -1l

. (Hafed
(3TEH Helfadi) i,
A AT 0 T B S e ;ﬂe‘”f‘“‘_’ﬂ

B. BUAI gRI IoHITa® gall @l ol T IATEH

S P II. 80 St it
c. fordt safdd gRT IeHIfa® aal @i [GU T |11 80 it oif
TRTGH & GaH H deldl i

D. 3T1-a =iy & (i 9¢ & g & V. 80 off St
GZEG) il

< fgu e fdent & 9 9g IR g

TA-ILB-L,LC-IV,D-1
2ZA-IV,B-ILC-NI,D-1
A-ILB-IILC-1,D-1IV
4A-LBE-IV.C-1L,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=33601] Question Description : bwlg_pg_com_eng_2_q75
2[Option ID=33602]
3[Option ID=33603]
4[Option ID=33604]

Sl. No.76
QBID:328076

In relation to the export from India, arrange the following steps of port procedure and customs cleareance sequentially:
A. C&F agent present mate's recipt to shipping company

B. Shipping company issues bill of lading. C&F agent dispatches bill of lading and other documents to the importer

C. C&F agent receives documents from the exporter, takes delivery of cargo and stores cargo in warehouse till shipment
D. Master of vessel issues mate's receipt to shed superintendent of port

E. Cargo brought to the port shed for loading

Choose the correct answer from the options given below

1.C,E DB A
2.CEDAB
3.3EC D AB
4.C D EAB

1)
(2)
(3)
(4)

A W N R




YRd 9 Faid & g ¥ Ui (@6g) Uishal ud Ui Yem Huerd & Uit & fafid @Rl & hHaR Jeld :

A. U 78 U Tole Rt Sl &1 ey e vgd #Rar e
5. Rift ot @i foe o &<l &1 T T U% Uole Saa® & afew fod Ud o e Haidl §

C. 91 S UW Uoie (Mulded 9 gide UId &l &, DFN @I [Sciiasl Ui ®xdl § adl fRIgHe g4 d@ SRl &l HSRUl g H w&dl
g

D. Hi%eR 3% a9, Hed &I 341G Ul & JS BRI &l kI Bl &
£ @I @l dfeT & U O IS H Ao g
i feu e fasdheal 5 U U8l IR 94 -

1.C,EDBA
2.CEDAEB
3.EC D AB
4.C D EAEB

1)
(2)
(3)
(4)

A W N R

1[Option ID=33605] Question Description : bwlg_pg_com_eng_2_q76
2[Option ID=33606]
3[Option ID=33607]
4[Option ID=33608]

Sl. No.77
QBID:328077

The following are contextual auditing with wider intensities

A. Special Audit

B. Internal Audit

C. Internal Check

D. Annual Audit

E. Interim Audit

Choose the correct sequence from the options given below in increasing order of underlying intensity.

1.C,BED A
2.B,CDAE
3.ABCDE
4B, CAED

1)
(2)
(3)
(4)

A W N R




og1 wHien & fafeiad gRefia sidarn & HEl S H B di&Udl & ggd A H gHT:
A. Tarary o uiian

B. Sffaf¥ds oiar gdiat

C. i i

D. alfids oIl URlaf

£ af\ o udian

e fu TTu fadeat § U ideroi @1 Rev & Sed HH 3 Ual S g :

1.C,BED A
2.B,C,D AE
3.A.B,CDE
4B, CAED

1)
(2)
(3)
(4)

A W N R

1[Option ID=33609] Question Description : bwlg_pg_com_eng_2_q77
2[Option ID=33610]
3[Option ID=33611]
4[Option ID=33612]

Sl. No.78
QBID:328078

Sequence the following steps in the process of estimating demand equation using regression analysis.
A. Obtaining data on each variable or its proxy

B. Estimating slope coefficients

C. Model specifications

D. Deciding on the functional form of the demand equation

E. Evaluation of regression results

Choose the correct answer from the options given below

1.C,ADBE
2.D,CBAE
3.A.B,CDE
4.D A CBE

(1)
(2)
(3)
(4)

A W N R




Ui fa=eur & vhiT & gU, AR THieR & e i uisar & Ffaied dedl & 9l Sdd al g 2
A Ul 9 31Ydl WRigl & Fey § ST U Sl

B. WaUT T[UTic T AT Bl

C. Alsd ARy FyiRd &1

D. BTl G601 & YdEfE® €U & FHuig &A1

E. iR Ul &1 Jedia

=< feu 7Tu fadedl § 9 U8l SR 9 -

1.CCADBE
2.D,C B AE
3.A,B,CD.E
4.D A CEE

1)
(2)
(3)
(4)

A W N R

1[Option ID=33613] Question Description : bwlg_pg_com_eng_2_q78
2[Option ID=33614]
3[Option ID=33615]
4[Option ID=33616]

Sl. No.79
QBID:328079

Arrange the following in the logical sequence of the international arbitrage operation.
A ldentify an opportunity

B. Purchase the asset

C. Review the transaction cost

D. Pocket the profit

E. Sell the asset

Choose the correct answer from the options given below

1.ACBED
2.CADBE
3.BADEC
4.B,D A CE

(1)
(2)
(3)
(4)

A W N R




FufeiRad @& AP HauvH UalaH & diidd S9eH H aiyd sifed|
A. 3R B UM S
B. HUfd &1 54
C. 9T (loiaRIH) TRT 1 GHIE
D. T I &l
E. HUf faswy
i< TeU 71Q fadhedl # U el IR 44 -
1A, CBED
2.C,A D,B,E

3.BADEC
4.8B,D,A CE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33617] Question Description : bwlg_pg_com_eng_2_q79
2[Option ID=33618]

3[Option ID=33619]
4[Option ID=33620]

Sl. No.80
QBID:328080

Arrange the following steps in sequence for testing a statistical hypothesis
A. Test statistics

B. Framing the hypothesis

C. Collecting the sample data

D. Level of significance

E. Obtaining results and taking decisions

Choose the correct answer from the options given below

1.B,D,CAE
2.C,BADE
3.BCADE
4. A CBED

1)1
(2) 2
(3) 3
(4) 4




Fgfeiad SuHT @ Gifsid ™ UREGeH! & WIS & U sHeS odaiedd Iy ;
A, Fifena! udigu &1 4419
B. TR §4H
C. ufdeE 3PSl Uhd Bl
D. Trefdd] &l TR FYiRa &
E. UIRUIA W &1 3R Fofg o
< feu U fasweal # 4 9t Iw g :
1.B,D,C A E
2.C,B,AD,E

3.BCADE
4.4 CBED

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33621] Question Description : bwlg_pg_com_eng_2_q80
2[Option ID=33622]

3[Option ID=33623]
4[Option ID=33624]

Sl. No.81
QBID:328081

Arrange the following steps of employee training in the proper sequence:

A. Familiarize the employee with equipment, materials, tools, and trade terms

B. Create interest and find out what the employee already knows about the job

C. Explain why the employee is being trained

D. Place the trainee/employee as close to the normal working position as possible

E. Explain the whole job and relate it to some other job which the employee already knows
Choose the correct answer from the options given below

1.C,EBAD
2.C,BEDA
3.BECDA
4. EACDEB

1)1
(2) 2
(3) 3
(4) 4




HHIRT WIS & FEfaRad Rl @ Ifd HH H walyd Sift -
A FHIRI B U, Uer!, SSIRT IR RS Weaaet § uRkfad S=amFl
B. ¥1d UG $31 IR HHARI PIE & aR H Ued § 701 IHdl &, 3961 Gdl ]
c. HHIRT ot ufkifed far o1 361 8, 59 aR § §dM
D. UfRigg / HHERI i fordm Td g T 39 I o1 dgf 3ER & iy se
£ P & IR H M1 3R 34 BHARI §RI1 Usd © Fuied o1d 9 9eiidd $3d g¢ aar
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.C,EBAD
2.C,B,EDA

3.B.ECDA
4.E A CDB

1)
(2)
(3)
(4)

A W N R

1[Option ID=33625] Question Description : bwlg_pg_com_eng_2_q81
2[Option ID=33626]
3[Option ID=33627]
4[Option ID=33628]

Sl. No.82
QBID:328082

Risk management process follows the following steps in which logical sequence?
A. Selection of appropriate risk model for analysis

B. Identification of risk variable

C. Determination of frequency and severity of risk

D. Feedback on the risk management process

E. Application of a suitable risk instrument

Choose the correct answer from the options given below

1T.EABCD
2.C,BADE
3.BCAED
4. A CBDE

(1)
(2)
(3)
(4)

A W N R




S wee g Fofafad @Rol @ U 0 8 SFRu & 8
A. famayur & oY Jugad wifed Aisd &1 994

B. SIfEH TR @1 GgaH

C. SiiRgH BT aRFETRal 3R Rl HiEd s

D. WIRGH WeitH Ufshdl & aR H Blsdd Wayp)

£, U SUgE SilTaH firad &1 ST

TRt e H A WS I :

1T.EABCD
2.C,B,ADE
3.BCAED
4. A CBDE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33629] Question Description : bwlg_pg_com_eng_2_q82
2[Option ID=33630]

3[Option ID=33631]
4[Option ID=33632]

Sl. No.83
QBID:328083

Arrange the following purchases made by a customer as per Maslow's hierarchy of needs theory starting with the lower
order needs.

A, Purchase of House

B. Purchase of an expensive car

C. Taking a club membership

D. Enrolling in a learn-by-yourself course

E. Purchase of bathing soap

Choose the correct answer from the options given below

1.EABCD
2.AECBD
3.EACBD
4. A EBCD

1) 1
(2) 2
(3) 3
(4) 4




¥l B HIGRIdhd] AU Hgid & HER [ aed grl & 1 Faftiiad Edcaidl o S oH H afedd il
A R FI e
B. AEll PR &1 |iaar]

C. T4 B Yo=dl Ag0 HAl

D. W4 U gl Ulea®d (@14) d AHi® BRaMl
E. 91§ (8 @) B WGar!
i< U 7Y fadhedl # 9 el IR 44 -

1.E A B,CD

2.AECB,D

3.EACBD
4.AEBCD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33633] Question Description : bwlg_pg_com_eng_2_q83
2[Option ID=33634]

3[Option ID=33635]
4[Option ID=33636]

Sl. No.84
QBID:328084

Arrange the following decision outcomes under the Indian Consumer Protection Act, 1986 in a rising sequence of severity of
offences.

A, Removal of defects

B. Impose cost on parties

C. Return of price paid

D. Discontinuation of unfair practices

E. Compensation to consumer

Choose the correct answer from the options given below

1.A B CED
2.ACEDEB
3.C,D A BE
4D, E B CA

1) 1
(2) 2
3) 3
4) 4




URAH JUHTadT GI&U AT, 1986 & 3idild, 2RI & F3RAT & ded wd § FHgfaRad Fufg oot o srefem @i
A. TGl Bl geH

B. U&/@RI TR TFTd &I SRITUT B

C. Hgl @i T4 AR WI5Y) D argdl &A1

D. 3fId fharaanul &1 gHuA

£, TUHIG B HHTGS &A1

i< U 7Y fadhedl # 9 el IR 44 -
1.AB,CED
2.A CED,B

3.CD ABE
4.D,E B CA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33637] Question Description : bwlg_pg_com_eng_2_q84
2[Option ID=33638]

3[Option ID=33639]
4[Option ID=33640]

Sl. No.85
QBID:328085

Steps involved in computation of tax on agricultural income in India are followed in which sequence?
A. Add basic exemption limit to Net agriculture income and calculate tax

B. Deduct rebate u/s 37A from the total income

C. Add Health Cess

D. Add Agricultural and Non-agriculture income and calculate tax on total income

E. Calculate difference of tax in both computations

Choose the correct answer from the options given below

1.A DB CE
2.A CDBE
3.ADCEB
4.D, A E B C

1)1
(2) 2
(3) 3
(4) 4




YR H BT 31 R &R & URdeH H A @R 6y &0 H Haiyd gid & ?
A 990 ST M AR B 0F] 8 50 B M1 B @18 ol
B. YRT 87 A & JAciid TqUl 31 ¥ e B 9eHI
C. = UG Bl ASAl
D. BT 3R TR - BT HG DI ASAT HR B DI U1 R UR A0ET Bl
E. &1 U@l H B o 3k B 70T BT
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.A,D,B,CE
2.A,C,D,BE

3.ADCEB
4.D, A EBC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33641] Question Description : bwlg_pg_com_eng_2_q85
2[Option ID=33642]

3[Option ID=33643]
4[Option ID=33644]

Sl. No.86
QBID:328086

Given below are two statements

Statement I: Thousands of small firms in developing countries have closed their shutters because of the competition from
large MINCs.

Statement II: MNCs have played a significant role in the development of poor countries by transfer of technology,
introducing best management practices and help in improving productivity.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement Il is true

(1)1
(2) 2
(3) 3
(4) 4




@Y - | Faue agRgta dufar 9 ufirayf & srvl feradia & ¥ el sl B dg B R B

HYF - 1| : SEAPIY HUMEL - YRS §xIeRY, HaiH TeHHd s0aeR B1 TH3Td 3R Ideedl YUR & §RI TR o2 &
e o A=yl YT 1 2

Sudad @Al & ai® § FufaRad el § 3 wel S A -
1. BT 1 AR 1 SHT I '
2. YA | AR 11 GFT AT B

3. YT | 9 &, foog DY 11 S B
4. YA | YT , o] U 1| T B

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=33645] Question Description : bwlg_pg_com_eng_2_q86
2[Option ID=33646]

3[Option ID=33647]
4[Option ID=33648]

Sl. No.87
QBID:328087

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Economic profit is smaller than accounting profit.

Reason R: Accounting profit = Revenue - Explicit costs

Economic Profit = Revenue - Explicit costs - Implicit costs

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

1) 1
(2) 2
(3) 3
(4) 4

TG By RUU G : U@ &l SHUSHYA (A) SR g8 DI BRI (R) Bl T gl
AR (A) : e ATy, Sl Ty P 30ET $H ST o
RO (R) : T@Ich oY = e - 8T rTd
e T = eTed - [HEd dTd - sdHied arTd
SUddd YAl & HTdld | FHifdd [dbedl # 4 Wel 9k 9 -

1. (A) 3R (R) SF 91 € 3R (R), () P! TEl ARAT B |
2.(A) 3R (R a‘ﬁm@%uﬁ )ﬁ'ﬂﬂé‘lqua“f%l
3. (A) TR E IR R}“@IEFTT-FE,FT%I

4. (A) WEI T8I 8 13g (R) WEI &




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33649] Question Description : bwilg_pg_com_eng_2_q87
2[Option ID=33650]

3[Option ID=33651]
4[Option ID=33652]

Sl. No.88
QBID:328088

Given below are two statements

Statement I: The stage in the manufacturing process where joint products are separately identifiable is called split-off
point.

Statement II: The production costs incurred after the split-off point are called separable costs.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement Il is true

OR!
(2) 2
3) 3
(4) 4

CIERA R A

@Y - | - faFHi Ufshar & 30 Rl B fadeA fdg (eRe 3% Wise) ®el ol ¢ ool Y4ad 3dIG! DI e - HeRT UgdHl
& @l 8|

T - 11 : [aE s g & 915 o5 SIe- AN & gY@ OFTd ®el ol 5|
e Byl & el H HafaiRad el § 3 w8 Fw g -

1.4 1 3R 1| GH 981 B

2. % | AR 1 S TTEd 2

3. YT | 9 &, foog DY 11 S B
4. YA | 39 &, foog DU 1 TA B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33653] Question Description : bwlg_pg_com_eng_2_q88
2[Option ID=33654]

3[Option ID=33655]
4[Option ID=33656]

Sl. No.89
QBID:328089




Given below are two statements
Statement I: Long term capital loss can only be set off against the long term capital gains.

Statement II: Long-term capital gains exceeding Rs one lakh are subject to tax at the rate of 10% with indexation and at
20% without indexation.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

1) 1
(2) 2
3) 3
(4) 4

EIEEARIC A S
DY - | : GrHDIiciD arH H I gl Siddlicisd Ysil gli- SHRING &l 9ddl o

@Y - 1| : U aRa Y@ o S B Uil ary 10% Gdid0l (Goa€ia) HR 20% @41 GHIdu (ESaRgH) diel aX 1R &Y
B S B

SUddd Byl & Heis § FafaRed et § 9 98l w9 -
1. @Y1 3R 11 GH Fal gl
2. YT 1 3R 1 GHf Tad g

3. @Y | 9 §, food &Y 1 3 B
4. Y | 39 &, foog DU 1| T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33657] Question Description : bwlg_pg_com_eng_2_q89
2[Option ID=33658]

3[Option ID=33659]
4[Option ID=33660]

Sl. No.90
QBID:328090

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: One of the most difficult product to sell is 'life insurance’ such that one who sells life insurance can sell
anything under the Sun.

Reason R: What is sought to be marketed in life insurance is an assurance whereby payment of money is assured upon
death or the happening of any contingency depended upon human life.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

1 1




) 2
3) 3
(4) 4

T E P RUTUE: @ & HUHYA (4) R T8 @I BRI (R) Hal ™ &l

HIHYA (A) : Slia- &1 IAIG Bl faeh! BT, [ahd g Ydilte &idH Idiel H 8 UP ¢, 39 ae Y ol eiia s @] f6eh] &
Thdl & 98 YA gavs H oo i 99 G@di gl

DRI (R) : Wi d1H1 & & H 39 die & e I [aUUH o 9I1dl & o g UR Sl J11d oigq SH1umid fodl o
HTH RG] & °ied 8iH UR S11d B 394 BT YiaH a1 sl &

SUdd BYAI & SIS H Hiied [ddcdl H ¥ el S I -

1. (A) 3R (R) GFI a1 & 3R (R), (A) B! Tel AR B |
Z(A)Gﬁ? Eﬁf@%mﬁ )ﬁﬂé‘lwq‘fﬁ%
3. (A) HEIE U R}ﬂﬁaﬁ%w

4. (A) TEI 81 § IR (R) TE1 B

1[Option ID=33661] Question Description : bwlg_pg_com_eng_2_q90
2[Option ID=33662]
3[Option ID=33663]
4[Option ID=33664]

Sl. No.91
QBID:328091




Read the passage below carefully and answer the five questions that follow

The invention of the office - from the Latin opus (work) + facere (do) = officium (performance of work) -was necessitated by
the inability of work to be done remotely. Until very recently, the prevalent technology was simply not available or very
limited to allow work away from office. If you had to conduct stocktaking, copy documents or engage in a brainstorming
session, one had to be physically close to the tools of work and co-workers. Even as the technology was becoming
increasingly available, it was the forced disruption of pandemic that finally showed that office, like the stock exchange
trading floor, as a shared physical-only space was no longer essential to carry out work. Today, as Covid restrictions
thankfully recede, the push that had become the shove of working from home (WFH) is becoming a nudge for working from

anywhere (WFA).

Neither can all work be conducted WFA nor to all workers prefer remote working. Several reasons for the primacy of the
"face-to-face’ work model are trotted out - "water-cooler’ engagements; ideas flying "better’ at corporeally attended meeting;
company values welded only under ‘one roof, one team' norms. But studies, including pre-pandemic ones conducted by the
likes of Harvard Business School's Prithwiraj Choudhury, have shown that WFA is a ‘win-win for ‘Workers, Companies and
for Society'. WFA slashes time and energy expanded in commutes; allows workers the choice of their work surroundings that
may actually improve their quantitative and qualitative output; provides less crowded space for those who choose offices as
their comfort work zone. Most importantly, for companies, it allows HFA - hiring from anywhere, thereby breaking the talent
pool distance barrier.

The new hybrid work culture is still a work-in progress. Floor managers will have to be trained to manage a different kind of
floor. Company values will need to flourish in a digital-deeper environment. The idea of work-life balance itself has to be
rejigged. But the bottomline is work optimisation. For which WFA, without the stress of a pandemic around, makes damn
good pitch.
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Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Work from Anywhere is only possible in case of employees working independently.
Reason R: Brainstorming sessions are possible in the case of Work from Anywhere.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

1) 1
) 2
3) 3
4) 4

o & By RU U E : @ @l @Y (4) R THX @ @RI (R) BEl T8
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3. (A) T8l B U R}*ﬂ%ﬁ‘%ﬁ%l
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(1) 1

(2) 2

(3) 3

(4) 4
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Read the passage below carefully and answer the five questions that follow

The invention of the office - from the Latin opus (work) + facere (do) = officium (performance of work) -was necessitated by
the inability of work to be done remotely. Until very recently, the prevalent technology was simply not available or very
limited to allow work away from office. If you had to conduct stocktaking, copy documents or engage in a brainstorming
session, one had to be physically close to the tools of work and co-workers. Even as the technology was becoming
increasingly available, it was the forced disruption of pandemic that finally showed that office, like the stock exchange
trading floor, as a shared physical-only space was no longer essential to carry out work. Today, as Covid restrictions
thankfully recede, the push that had become the shove of working from home (WFH) is becoming a nudge for working from

anywhere (WFA).

Neither can all work be conducted WFA nor to all workers prefer remote working. Several reasons for the primacy of the
"face-to-face’ work model are trotted out - "water-cooler’ engagements; ideas flying "better’ at corporeally attended meeting;
company values welded only under ‘one roof, one team' norms. But studies, including pre-pandemic ones conducted by the
likes of Harvard Business School's Prithwiraj Choudhury, have shown that WFA is a ‘win-win for ‘Workers, Companies and
for Society'. WFA slashes time and energy expanded in commutes; allows workers the choice of their work surroundings that
may actually improve their quantitative and qualitative output; provides less crowded space for those who choose offices as
their comfort work zone. Most importantly, for companies, it allows HFA - hiring from anywhere, thereby breaking the talent
pool distance barrier.

The new hybrid work culture is still a work-in progress. Floor managers will have to be trained to manage a different kind of
floor. Company values will need to flourish in a digital-deeper environment. The idea of work-life balance itself has to be
rejigged. But the bottomline is work optimisation. For which WFA, without the stress of a pandemic around, makes damn
good pitch.
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Work from Office was preferred because of

A. "'Water cooler’ engagements

B. Ideas fly better at corporeally attended meetings
C. Promotes one team norm

D. Improves work-life balance

E. Inability of work to be done remotely

Choose the most appropriate answer from the options given below:

1. A B and C only
2.C, Dand E only
3.A B, Cand E only
4. A, BandEonly

1)
(2)
(3)
(4)
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PO 4 B $3 @I FgiaRaa O O 69 & SR udg [Har g 2
A. Tl - PR AT
B. Hifdd JufeUld arell 43! H dgR [daR Hy= gidi &

C.U® 1 & gH® @1 GadA

D. B - Siia- dqeH 3 gUR

E. X U &1 &3 D1 SHddl

i<l feu 1u fadedl & 4 981 SR g -
1.Ha A, B AR C
2.59AC, D ARE

3. BIAA, B, CIRE
4. ®BdAA B3R E

1)
(2)
(3)
(4)

A W N =

1[Option ID=33669] Question Description : bwilg_pg_com_eng_2_q92
2[Option ID=33670]
3[Option ID=33671]
4[Option ID=33672]

Sl. No.93
QBID:328093




Read the passage below carefully and answer the five questions that follow

The invention of the office - from the Latin opus (work) + facere (do) = officium (performance of work) -was necessitated by
the inability of work to be done remotely. Until very recently, the prevalent technology was simply not available or very
limited to allow work away from office. If you had to conduct stocktaking, copy documents or engage in a brainstorming
session, one had to be physically close to the tools of work and co-workers. Even as the technology was becoming
increasingly available, it was the forced disruption of pandemic that finally showed that office, like the stock exchange
trading floor, as a shared physical-only space was no longer essential to carry out work. Today, as Covid restrictions
thankfully recede, the push that had become the shove of working from home (WFH) is becoming a nudge for working from

anywhere (WFA).

Neither can all work be conducted WFA nor to all workers prefer remote working. Several reasons for the primacy of the
"face-to-face’ work model are trotted out - "water-cooler’ engagements; ideas flying "better’ at corporeally attended meeting;
company values welded only under ‘one roof, one team' norms. But studies, including pre-pandemic ones conducted by the
likes of Harvard Business School's Prithwiraj Choudhury, have shown that WFA is a ‘win-win for ‘Workers, Companies and
for Society'. WFA slashes time and energy expanded in commutes; allows workers the choice of their work surroundings that
may actually improve their quantitative and qualitative output; provides less crowded space for those who choose offices as
their comfort work zone. Most importantly, for companies, it allows HFA - hiring from anywhere, thereby breaking the talent
pool distance barrier.

The new hybrid work culture is still a work-in progress. Floor managers will have to be trained to manage a different kind of
floor. Company values will need to flourish in a digital-deeper environment. The idea of work-life balance itself has to be
rejigged. But the bottomline is work optimisation. For which WFA, without the stress of a pandemic around, makes damn
good pitch.
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Given below are two statements

Statement I: Work from home concept was not initiated in the past because no one had conceptualised it.

Statement lI: It was not possible to Work from home in the past.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

1)
(2)
(3)
(4)
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Read the passage below carefully and answer the five questions that follow

The invention of the office - from the Latin opus (work) + facere (do) = officium (performance of work) -was necessitated by
the inability of work to be done remotely. Until very recently, the prevalent technology was simply not available or very
limited to allow work away from office. If you had to conduct stocktaking, copy documents or engage in a brainstorming
session, one had to be physically close to the tools of work and co-workers. Even as the technology was becoming
increasingly available, it was the forced disruption of pandemic that finally showed that office, like the stock exchange
trading floor, as a shared physical-only space was no longer essential to carry out work. Today, as Covid restrictions
thankfully recede, the push that had become the shove of working from home (WFH) is becoming a nudge for working from

anywhere (WFA).

Neither can all work be conducted WFA nor to all workers prefer remote working. Several reasons for the primacy of the
"face-to-face’ work model are trotted out - "water-cooler’ engagements; ideas flying "better’ at corporeally attended meeting;
company values welded only under ‘one roof, one team' norms. But studies, including pre-pandemic ones conducted by the
likes of Harvard Business School's Prithwiraj Choudhury, have shown that WFA is a ‘win-win for ‘Workers, Companies and
for Society'. WFA slashes time and energy expanded in commutes; allows workers the choice of their work surroundings that
may actually improve their quantitative and qualitative output; provides less crowded space for those who choose offices as
their comfort work zone. Most importantly, for companies, it allows HFA - hiring from anywhere, thereby breaking the talent
pool distance barrier.

The new hybrid work culture is still a work-in progress. Floor managers will have to be trained to manage a different kind of
floor. Company values will need to flourish in a digital-deeper environment. The idea of work-life balance itself has to be
rejigged. But the bottomline is work optimisation. For which WFA, without the stress of a pandemic around, makes damn
good pitch.
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Which one of the following is NOT true for Work from Anywhere?

1. It reduces time and energy expended in commuting

2. It increases talent pool distance barrier

3. It allows an employee to choose his work surroundings
4. It improves quality and quantity of work output

(1) 1
) 2
3) 3
(4) 4
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Read the passage below carefully and answer the five questions that follow

The invention of the office - from the Latin opus (work) + facere (do) = officium (performance of work) -was necessitated by
the inability of work to be done remotely. Until very recently, the prevalent technology was simply not available or very
limited to allow work away from office. If you had to conduct stocktaking, copy documents or engage in a brainstorming
session, one had to be physically close to the tools of work and co-workers. Even as the technology was becoming
increasingly available, it was the forced disruption of pandemic that finally showed that office, like the stock exchange
trading floor, as a shared physical-only space was no longer essential to carry out work. Today, as Covid restrictions
thankfully recede, the push that had become the shove of working from home (WFH) is becoming a nudge for working from

anywhere (WFA).

Neither can all work be conducted WFA nor to all workers prefer remote working. Several reasons for the primacy of the
"face-to-face’ work model are trotted out - "water-cooler’ engagements; ideas flying "better’ at corporeally attended meeting;
company values welded only under ‘one roof, one team' norms. But studies, including pre-pandemic ones conducted by the
likes of Harvard Business School's Prithwiraj Choudhury, have shown that WFA is a ‘win-win for ‘Workers, Companies and
for Society'. WFA slashes time and energy expanded in commutes; allows workers the choice of their work surroundings that
may actually improve their quantitative and qualitative output; provides less crowded space for those who choose offices as
their comfort work zone. Most importantly, for companies, it allows HFA - hiring from anywhere, thereby breaking the talent
pool distance barrier.

The new hybrid work culture is still a work-in progress. Floor managers will have to be trained to manage a different kind of
floor. Company values will need to flourish in a digital-deeper environment. The idea of work-life balance itself has to be
rejigged. But the bottomline is work optimisation. For which WFA, without the stress of a pandemic around, makes damn
good pitch.
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Given below are two statements in relation to the passage:

Statement I: With ease in the stress of the pandemic around, the relevance of Work from Anywhere will reduce
Statement lI: For the new hybrid work culture to prevail, companies will have to invest more in technology

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

1)
(2)
(3)
(4)

A W N R

e &l S, T & HeH H AT E
HY - |- IR 3R HHR] & <a1d # S & Ty, Hel ° Hl D1 H B UERIHar § ST AT |
@Y - 11 : T3 Of3d Upld & Ued oH & [od Su-al @ Uaifie! o 3R fds Faw s s
Iudad Bl B 3o | Faftiad el J 9 58l W g -

1. Y | 3R 11 &FT T8

2. BYA 1 3R 11 GFI T g |

3. U | el g, fog %A 11 TTad g
4. YA | 71Ad &, fo=g B 1| Gel 8

1)
(2)
(3)
(4)
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Read the passage below carefully and answer the five questions that follow

Capital flows, exchange rates and the interest rates are causes of immediate concern to the national economies. Central
banks of various countries have been using a variety of methods with the excessive capital inflows. Foreign portfolio
investment have a direct and indirect impact on exchange rates, valuation of traded assets and yields of various government
and corporate securities.

RBI, in the post-pandemic scenario and the recent Russia-Ukraine war situation is working on multiple options to stabilize the
exchange rates by protecting both the exporters and importers. One way which RBI adopts to maintain a desirable level of
exchanges rates is to mop up nets foreign exchange assets from scheduled commercial banks in exchanges of domestic
currency (%) assets. The liguidity flows are, in essence, inflationary. RBI has projected a comfortable GDP rate for the current
fiscal and believes a reasonable level of CPI inflation as 5.3%.

The retail inflation, according to the REI governor, recently is likely to be 4.5% in 2023 fiscal. With this perspective, the repo
rate and reverse repo rate remain at 4% and 3.35%, respectively, since May 22, 2020. A balancing act between economic
growth and inflation is visible. Though the RBI rates are consistent, the burden on borrowers for the short-term and long-
term, is still unpredictable.
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The primary purpose of the monetary policy of RBI is to maintain

1. Wealth

2. Exchange Rate Volatility
3. Income Equality

4. Stability of prices

(1)1
(2) 2
(3) 3
(4) 4
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1) 1




(2) 2

3) 3

(4) 4
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Read the passage below carefully and answer the five questions that follow

Capital flows, exchange rates and the interest rates are causes of immediate concern to the national economies. Central
banks of various countries have been using a variety of methods with the excessive capital inflows. Foreign portfolio
investment have a direct and indirect impact on exchange rates, valuation of traded assets and yields of various government
and corporate securities.

RBI, in the post-pandemic scenario and the recent Russia-Ukraine war situation is working on multiple options to stabilize the
exchange rates by protecting both the exporters and importers. One way which RBI adopts to maintain a desirable level of
exchanges rates is to mop up nets foreign exchange assets from scheduled commercial banks in exchanges of domestic
currency (%) assets. The liguidity flows are, in essence, inflationary. RBI has projected a comfortable GDP rate for the current
fiscal and believes a reasonable level of CPI inflation as 5.3%.

The retail inflation, according to the RBI governor, recently is likely to be 4.5% in 2023 fiscal. With this perspective, the repo
rate and reverse repo rate remain at 4% and 3.35%, respectively, since May 22, 2020. A balancing act between economic
growth and inflation is visible. Though the RBI rates are consistent, the burden on borrowers for the short-term and long-
term, is still unpredictable.

FrafafEe e 1 SauEgEe U8 aur e R T st F I d

USht vrare, fafaa o SR o0 & & APy srforawu & oy drepiiae a1 @1 fawg g1 i a1 & $uid 8 safis gsit
Udlg & A1y HHI-HH Ugiadl ®I Al I ol Rl (Uewifaal savede) Faw-gdl & fafmg & SR uR @ 15
yieuial & gedice aur fafis WReri ud id ufayfaal & Iured U= Udel Ud SUds UHId usdl

TN & IR IRERT 3R 310 & ©F b 95 @1 URUfa # SRaleTs Fafde! t@ st aHi ®f §iad $d ge f[abeg
o 3 uvifad wEd & Ol G w orEia B T o @ diede wR O® @4 & o 5w e ufear &
RIS 30T 361 8, 98 & IXq 4l uReuidl & wea § sifgfa aftfcos $of @ faa fageh fatma duket o sifimgo
@11 GGl & Ydlg WHIAa: el ThIldhR® ¢ | R3S H goHH a0y gy & oY Jgd SIS Ul 63 & Y&l fbar § 3R 39d!
g AT & b JuHIdd] Hed Yadid bl g1 Thifde 5.3% & GH- TR db el

HRATHATS & TTFR D HI9R [Geg 6 2023 & AIE] Gal GEREIT X & 4.5% d® g+ ©1 GHIGA ol 591 SP@io & a1y 22
T$ 2020 T YOI &2 SR g 301 @R & off 55 4% 3R 3.35% Yo+ @1 UG 6| N® Wi AR GER®Id & ard BT Gqad
TR 31 I9il SRETHTE & a2 (R (Ud 99H) &, R 1 Boemdars & [/ ereaafis ud Saiaiie UR onf off smenfaa 81

The stance of a monetary policy wherein the interest rates may move either way, upwards or downwards, is called

1. Accommodative stance
2. Neutral stance

3. Calibrated stance

4. Hawkish stance

1) 1
(2) 2
(3) 3
(4) 4
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(1) 1
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Read the passage below carefully and answer the five questions that follow

Capital flows, exchange rates and the interest rates are causes of immediate concern to the national economies. Central
banks of various countries have been using a variety of methods with the excessive capital inflows. Foreign portfolio
investment have a direct and indirect impact on exchange rates, valuation of traded assets and yields of various government
and corporate securities.

RBI, in the post-pandemic scenario and the recent Russia-Ukraine war situation is working on multiple options to stabilize the
exchange rates by protecting both the exporters and importers. One way which RBI adopts to maintain a desirable level of
exchanges rates is to mop up nets foreign exchange assets from scheduled commercial banks in exchanges of domestic
currency (%) assets. The liguidity flows are, in essence, inflationary. RBI has projected a comfortable GDP rate for the current
fiscal and believes a reasonable level of CPI inflation as 5.3%.

The retail inflation, according to the REI governor, recently is likely to be 4.5% in 2023 fiscal. With this perspective, the repo
rate and reverse repo rate remain at 4% and 3.35%, respectively, since May 22, 2020. A balancing act between economic
growth and inflation is visible. Though the RBI rates are consistent, the burden on borrowers for the short-term and long-
term, is still unpredictable.
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An increase in investment is most likely to be caused by

1. Decrease in marginal propensity to consume
2. Expectations of lower GDP

3. Lowering of interest rates

4. Writing-off of Non-performing Assets

1)
(2)
(3)
(4)
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Read the passage below carefully and answer the five questions that follow

Capital flows, exchange rates and the interest rates are causes of immediate concern to the national economies. Central
banks of various countries have been using a variety of methods with the excessive capital inflows. Foreign portfolio
investment have a direct and indirect impact on exchange rates, valuation of traded assets and yields of various government
and corporate securities.

RBI, in the post-pandemic scenario and the recent Russia-Ukraine war situation is working on multiple options to stabilize the
exchange rates by protecting both the exporters and importers. One way which RBI adopts to maintain a desirable level of
exchanges rates is to mop up nets foreign exchange assets from scheduled commercial banks in exchanges of domestic
currency (%) assets. The liguidity flows are, in essence, inflationary. RBI has projected a comfortable GDP rate for the current
fiscal and believes a reasonable level of CPI inflation as 5.3%.

The retail inflation, according to the REI governor, recently is likely to be 4.5% in 2023 fiscal. With this perspective, the repo
rate and reverse repo rate remain at 4% and 3.35%, respectively, since May 22, 2020. A balancing act between economic
growth and inflation is visible. Though the RBI rates are consistent, the burden on borrowers for the short-term and long-
term, is still unpredictable.
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Quantitative easing by the Central bank implies

1. Selling of assets by the Central bank

2. Lowering of interest rates for commercial bank lending
3. Purchase of assets by the Central bank

4. Central bank reducing the policy rate

(1)1
(2) 2
(3) 3
(4) 4
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Read the passage below carefully and answer the five questions that follow

Capital flows, exchange rates and the interest rates are causes of immediate concern to the national economies. Central
banks of various countries have been using a variety of methods with the excessive capital inflows. Foreign portfolio
investment have a direct and indirect impact on exchange rates, valuation of traded assets and yields of various government
and corporate securities.

RBI, in the post-pandemic scenario and the recent Russia-Ukraine war situation is working on multiple options to stabilize the
exchange rates by protecting both the exporters and importers. One way which RBI adopts to maintain a desirable level of
exchanges rates is to mop up nets foreign exchange assets from scheduled commercial banks in exchanges of domestic
currency (%) assets. The liguidity flows are, in essence, inflationary. RBI has projected a comfortable GDP rate for the current
fiscal and believes a reasonable level of CPI inflation as 5.3%.

The retail inflation, according to the RBI governor, recently is likely to be 4.5% in 2023 fiscal. With this perspective, the repo
rate and reverse repo rate remain at 4% and 3.35%, respectively, since May 22, 2020. A balancing act between economic
growth and inflation is visible. Though the RBI rates are consistent, the burden on borrowers for the short-term and long-
term, is still unpredictable.
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Changes in foreign portfolio investments is directly related to

1. Money demanded

2. Exchange rates

3. Prices

4. Circulation of money

1) 1
(2) 2
(3) 3
(4) 4
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